PRACTICE TEST 1
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 1: Jack had to skip breakfast; otherwise, he will be late for class.

                                               A                    B                   C                 D

Question 2: After writing it, the essay must be duplicated by the student himself and handed in to the 

                               A                                      B                                                                             C



        department secretary before the end of the month.

                                                                       D

Question 3: They are known that colds can be avoided by eating the right kind of food and taking 

                               A                                              B                              C

                     exercise regularly.

                                         D

Question 4: Before the invention of the printing press, books have been all printed by hand.

                         A                                      B                                        C                               D

Question 5: The medical problems of parents and their children tend to be very similar to because of 

                                                                                  A                             B                C                D



         the hereditary nature of many diseases.

Read the passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the following blanks.


The British often _____(6)_____ people by their table manners and, at the table as in other _____(7)_____ of British life, politeness and distance are priced. While it is acceptable to ask an American host for a second _____(8)_____, in England you should absolutely wait _____(9)_____ you are being offered. It is considered impolite not to _____(10)_____  what is on your plate. Also watch what you say: the British are very distant with strangers and while they love _____(11)_____ the weather, even such as their age or whether they have any children may be _____(12)_____ too personal. Beware _____(13)_____ calling Scottish or Irish people “English”. Absolute no-nos are politics and religion, as they are, incidentally, in the United States.  On both sides of the Atlantic, it is never a good idea to engage in arguments about _____(14)_____ while sitting at the table.  You should also eat at roughly the same speed as the others at the table and never start your food before your _____(15)_____ does.

Question 6:  
A. comment

B. value

C. estimate

D. judge

Question 7: 
A. walks

B. ways

C. parts

D. corners

Question 8: 
A. dish


B. amount

C. help


D. serving

Question 9: 
A. before

B. after


C. to


D. until

Question 10: 
A. end


B. finish

C. eat


D. use up

Question 11: 
A. telling

B. talking

C. discussing

D. arguing

Question 12: 
A. believed

B. thought

C. considered

D. regarded
Question 13: 
A. to


B. at


C. for


D. of

Question 14: 
A. neither

B. either

C. each


D. both

Question 15: 
A. host


B. landlord

C. guest

D. house owner

Read the passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.        

       Large animals that inhabit the desert have evolved a number of adaptations for reducing the effects of extreme heat. One adaptation is to be light in color, and to reflect rather than absorb the Sun's rays. Desert mammals also depart from the normal mammalian practice of maintaining a constant body temperature. Instead of trying to keep down the body temperature deep inside the body, which would involve the expenditure of water and energy, desert mammals allow their temperatures to rise to what would normally be fever height, and temperatures as high as 46 degrees Celsius have been measured in Grant's gazelles. The overheated body then cools down during the cold desert night, and indeed the temperature may fall unusually low by dawn, as   low as 34 degrees Celsius in the camel. This is an advantage since the heat of the first few hours of daylight is absorbed in warming up the body, and an excessive buildup of heat does not begin until well into the day.  

       Another strategy of large desert animals is to tolerate the loss of body water to a point that would be fatal for non-adapted animals. The camel can lose up to 30 percent of its body weight as water without harm to itself, whereas human beings die after losing only 12 to 13 percent of their body weight. An equally important adaptation is the ability to replenish this water loss at one drink. Desert animals can drink prodigious volumes in a short time, and camels have been known to imbibe over 100 liters in a few minutes. A very dehydrated person, on the other hand, cannot drink enough water to rehydrate at one session, because the human stomach is not sufficiently big and because a too rapid dilution of the body fluids causes death from water intoxication. The tolerance of water loss is of obvious advantage in the desert, as animals do not have to remain near a water hole but can obtain food from grazing sparse and far-flung pastures. Desert-adapted mammals have the further ability to feed normally when extremely dehydrated, it is a common experience in people that appetite is lost even under conditions of moderate thirst.

Question 16: 1. What is the main topic of the passage?


A. Weather variations in the desert.

B. Adaptations of desert animals.


C. Diseased of desert animals.


D. Human use of desert animals.

Question 17: According to the passage, why is light coloring an advantage to large desert animals?


A. It helps them hide from predators.






B. It does not absorb sunlight as much as dark colors.


C. It helps them see their young at night.






D. It keeps them cool at night.

Question 18: The word "maintaining"  is closest in meaning to _________.


A. measuring

B. inheriting

C. preserving

D. delaying

Question 19: The author uses of Grant's gazelle as an example of


A. an animal with a low average temperature


B. an animal that is not as well adapted as the camel


C. a desert animal that can withstand high body temperatures


D. a desert animal with a constant body temperature

Question 20: When is the internal temperature of a large desert mammal lower?


A. Just before sunrise



B. In the middle of the day


C. Just after sunset



D. Just after drinking

Question 21: The word "tolerate" is closest in meaning to _________.


A. endure


B. replace

C. compensate

D. reduce

Question 22: What causes water intoxication?


A. Drinking too much water very quickly.
B. Drinking polluted water.


C. Bacteria in water.



D. Lack of water.

Question 23: Why does the author mention humans in the second paragraph?


A. To show how they use camels.


B. To contrast them to desert mammals.


C. To give instructions about desert survival.


D. To show how they have adapted to desert life.

Question 24: The word "obtain" is closest in meaning to _________.


A. digest


B. carry

C. save


D. get

Question 25: Which of the following is NOT mentioned as an adaptation of large desert animals?


A. Variation in body temperatures.

B. Eating while dehydrated.


C. Drinking water quickly.


D. Being active at night.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 26: 
A. tourism
B. atmosphere

C. canister

D. survival
Question 27: 
A. diversity
B. biography

C. biology

D. fundamental
Question 28: 
A. energy
B. advantage

C. biomass

D. arduous
Question 29: 
A. solar
B. cycle

C. indoors

D. costly
Question 30: 
A. ceremony
B. spectacular

C. facility

D. surprisingly
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following sentences.
Question 31: She asked Janet to repeat what she had said.


A. “Will you please repeat what Janet said?”, she asked.


B. “Please repeat what Janet had said.”, she asked.


C. “Please repeat what you say, Janet.”, she said.


D. “Please repeat what you said, Janet.” , she said

Question 32: Jenny denied breaking the window.


A. Jenny was determined not to break the window.


B. Jenny said that she hadn’t broken the window.


C. Jenny didn’t break the window.


D. Jenny refused to break the window.

Question 33: I hardly know the truth about Jean’s success in the institute.


A. Jean’s success in the institute was not to be known.


B. It is difficult for Jean to be successful in the institute.


C. I do not know much about Jean’s success in the institute.


D. Jean hardly become known and successful in the institute.

Question 34: After Louie had written his composition, he handed it to his teacher.


A. Handed the composition to his teacher, Louie wrote it.


B. Having written his composition, Louie handed it to his teacher.


C. Writing the composition, Louie handed it to his teacher.


D. Handing the composition, Louie had written his composition.

Question 35: It is certain that the suspect committed the crime.


A. The suspect was certain to commit the crime.


B. The suspect might have committed the crime.


C. Certain commitment of the crime was that of the suspect.


D. The suspect must have committed the crime.

Question 36: David drove so fast; it was very dangerous.


A. David drove so fast, which was very dangerous.


B. David drove so fast and was very dangerous.


C. David drove so fast, then was very dangerous.


D. David drove so fast that was very dangerous.

Question 37: People believed that the boys started the fire.


A. The boys were believed to have started the fire.


B. That the boys started the fire was believed.


C. It is believed that the fire was started by the boys.


D. It is believed that the boys started the fire.

Question 38: I had no problems at all during my trip to France.


A. No problems were there during my trip to France at all.


B. Everything went according to plan during my trip to France.


C. My trip to France was not at all went as planned.


D. No problems during my trip had I at all in France.

Question 39: He felt very tired. However, he was determined to continue to climb up the mountain.


A. He felt so tired that he was determined to continue to climb up the mountain.


B. Feeling very tired, he was determined to continue to climb up the mountain.


C. As the result of his tiredness, he was determined to continue to climb up the mountain.


D. Tired as he might feel, he was determined to continue to climb up the mountain.

Question 40: She heard the news of the death of her mother. She fainted.


A. On hearing the news of her dead mother, she fainted.


B. On hearing the news of her mother’s death, she fainted.


C. She fainted so she heard the news of the death of her mother.


D. She fainted and then she heard the news of the death of her mother.

Read the passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

          In 776 B.C., the first Olympic Games were held at the foot of Mount Olympus to honor the Greek’s chief god, Zeus. The warm climate for outdoor activities, the need for preparedness in war, and their lifestyle caused the Greeks to create competitive sports. Only the elite and military could participate at first, but later the games were opened to all free Greek males who had no criminal record. The Greeks emphasized physical fitness and strength in their education of youth. Therefore, contests in running, jumping, javelin throwing, boxing, and horse and chariot racing were held in individual cities, and the winners competed every four years at Mount Olympus. Winners were greatly honored by having olive wreaths placed on their heads and having poems sung about their deeds. Originally these contests were held as games of friendship and any wars in progress were halted to allow the games to take place. They also helped to strengthen bonds among competitors and the different cities presented.

           The Greeks attached so much importance to the games that they calculated time in four-year cycles called “Olympiads”, dating from 776 B.C. . The contest coincided with religious festivities and constituted an all-out effort on the part of participants to please the gods. Any who disobeyed the rules were dismissed and seriously punished. These athletes brought shame not only to themselves but also to the cities they represented.

Question 41: Which of the following is NOT true?


A. Winners placed olive wreaths on their own heads.


B. The games were held in Greek every four years.


C. Battles were interrupted to participate in the games.


D. Poems glorified the winners in songs.

Question 42: The word “elite” is closest in meaning to _______.


A. aristocracy

B. brave

C. intellectual

D. muscular

Question 43: Why were the Olympic Games held?


A. To stop wars.




B. To honor Zeus.


C. To crown the best athletes.


D. To sing songs about the athletes.

Question 44: Approximately how many years ago did these games originate?


A. 800 years.

B. 1,200 years.
C. 2,300 years.
D. 2,800 years.

Question 45: What conclusion can we draw about the ancient Greeks?


A. They were pacifists.


B. They believed athletic events were important.


C. They were very simple.


D. They couldn’t count so they used “Olympiads” for dates.

Question 46: What is the main idea of this passage?


A. Physical fitness was an integral part of the life of ancient Greeks.


B. The Greeks severely punished those who didn’t participate in physical fitness programs.


C. The Greeks had always encouraged everyone to participate in the games.


D. The Greeks had the games coincide with religious festivities so that they could go back to war 
            when the games were over.

Question 47: The word “deeds” is closest in meaning to _________.


A. accomplishments
B. ancestors

C. documents

D. properties

Question 48: Which of the following was ultimately required of all athletes competing in the 
                       Olympics?


A. They must have completed military service.


B. They had to attend special training sessions.


C. They had to be Greek males with no criminal record.


D. They had to be very religious.

Question 49: The word “halted”  means mostly nearly the same as ________.


A. encouraged

B. started

C. curtailed

D. fixed

Question 50: What is an “Olympiad”?


A. The time it took to finish the games.

B. The time between games.


C. The time it took to finish a war.

D. The time it took the athletes to train.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions
Question 51: The letter _________ me of the theft hadn’t been signed.


A. to accuse

B. accused

C. accusing

D. that accuse

Question 52: Over the last few months, garages _________ the price of petrol three times.


A. have risen

B. have put up

C. raised

D. have gone up

Question 53: __________ migrate long distances is well documented.


A. That it is birds

B. That birds

C. Birds that

D. It is that birds

Question 54: I am not able to go anywhere this weekend because I am up to my __________ in work.


A. neck


B. nose

C. head

D. eyes

Question 55: Doctors have accepted that acupuncture can work for pain ___________.


A. release


B. liberation

C. killing

D. relief

Question 56: She hates those who are not ___________ for appointment. She doesn’t want to wait.


A. punctually

B. punctual

C. punctuality

D. punctuate

Question 57: Many lists of “Wonders of the World” ___________ during the Middle Ages.


A. said to be existed



B. are said to exist


C. said to exist




D. are said to have existed

Question 58: A: Could I speak to Susan please? 

                       B: _____________ .


A. Talking


B. Speaking

C. Calling

D. Answering

Question 59: Liz: Thanks a lot for assisting me in the presentation.

                       Jennifer: ______________ .

       A. It was really hard work


B. It’s pleasing

       C. I was glad




D. It was the least I could do

Question 60: It is difficult to ___________ identical twins ___________.


A. tell/ on


B. speak/ out

C. tell/ apart

D. speak/ over

Question 61: Ivan: I have stacks of homework to do.

                       Kyle: _________________ !


A. Congratulations
B. Cheers

C. You poor thing
D. Oh bother

Question 62: _____________ Christina is late, let’s begin without her.


A. Since


B. Nevertheless
C. However

D. Consequently

Question 63: Nothing can ____________ the loss of the child.


A. make up with

B. make up for

C. do with

D. come up with

Question 64: One of the __________ of this work is that you can __________ experience.


A. advantages/ have



B. opportunities/ learn


C. profits/ become




D. benefits/ gain

Question 65: When I called them, they didn’t answer. They pretended __________ already.


A. to sleep


B. sleeping

C. having slept
D. to have been sleeping

Question 66: Laser disc provide images of ___________ either television signals or video tapes.

       A. better than




B. better quality than

       C. better quality than those of


D. better quality than of

Question 67: I haven’t got a passport, ____________ means I can’t leave my country.


A. which


B. that


C. this


D. it

Question 68: Having opened the bottle, _____________ for everyone.

       A. The drink was poured



B. Mike poured the drink

       C. Mike pouring the drink


D. The drink was being poured

Question 69: No one knows how much he earns a month, but $2,500 can’t be ________off the mark.


A. wide


B. far


C. broad

D. distant

Question 70: You may borrow my bike __________ you are careful with it.


A. even if


B. as long as

C. as much as

D. expecting

Question 71: Barry: Were you involved in the accident?

                       Daniel: Yes, but I wasn’t to ___________ for it.


A. charge


B. accuse

C. blame

D. apologize

Question 72: Assistant: May I help you?

                       Customer: ____________.



A. You may go
B. I don’t need help
C. No problem

D. I’m just looking
Question 73: “Excuse me, is anybody sitting here?” _ “ _____________.”

       A. No, thanks




B. Yes, I am so glad

       C. Sorry, the seat is taken



D. Yes, yes. You can sit here

Question 74: She is ____________ polite a person to refuse.


A. very


B. such

C. too


D. much

Question 75: _____________ the lesson well, Adrian couldn’t answer the teacher’s question.

A. Didn’t prepare

B. Having prepared
C. Preparing not
D. Not preparing

Question 76: ____________ no proof, the judge refused to sentence him to death.


A. It having

B. There being

C. Being

D. There having

Question 77: I __________ this letter while I was tidying up.


A. came by

B. brought in

C. brought back
D. came across

Question 78: If you hadn’t watched that late movie last night, you ________ sleepy now.

       A. wouldn’t have been



B. might not have been

       C. wouldn’t be




D. wouldn’t have been being

Question 79: My old friend and colleague, John, __________ married.


A. have just got

B. has just got

C. just have got
D. just has got

Question 80: I suggest that the doctor _________ up his mind without delay.


A. makes


B. make

C. made

D. is to make

PRACTICE TEST 2
Read the following passage and choose the best answer.

             Until recently, hunting for treasure from shipwrecks was mostly fantasy; with recent technological advances, however, the search for sunken treasure has become more popular as a legitimate endeavor. This has caused a debate between those wanting to salvage the wrecks and those wanting to preserve them.
          Treasure hunters are spurred on by the thought of finding caches of gold coins or other valuable objects on a sunken ship. One team of salvagers, for instance, searched the wreck of the RMS Republic, which sank outside the Boston harbor in 1900. The search party, using side-scan sonar, a device that projects sound waves across the ocean bottom and produces a profile of the sea floor, located the wreck in just two and a half days. Before the use of this new technology, such searches could take months or years. The team of 45 divers searched the wreck for two months, finding silver tea services, crystal dinnerware, and thousands of bottles of wine, but they did not find the five and a half tons of American Gold Eagle coins they were searching for.
            Preservationists focus on the historic value of a ship. They say that even if a shipwreck’s treasure does not have a high monetary value, it can be an invaluable source of historic artifacts that are preserved in nearly mint condition. But once a salvage team has scoured a site, much of the archaeological value is lost. Maritime archaeologists who are preservationists worry that the success of salvagers will attract more treasure-hunting expeditions and thus threaten remaining undiscovered wrecks. Preservationists are lobbying their state lawmakers to legally restrict underwater searches and unregulated salvages. To counter their efforts, treasure hunters argue that without the lure of gold and million-dollar treasures, the wrecks and their historical artifacts would never be recovered at all

Question 1: What is the main idea of this passage?


A. Searching for wrecks is much easier with new technologies like side-scan sonar.


B. Maritime archaeologists are concerned about the unregulated searching of wrecks.


C. The search of the RMS Republic failed to produce the hoped-for coins.


D. The popularity of treasure seeking has spurred a debate between preservationists and salvagers.

Question 2: The word “sunken” is closest in meaning to which of the following words?


A. broken


B. underwater

C. ancient

D. hollow

Question 3: Which of the following is closest in meaning to the word “legitimate”?


A. justified

B. innocent

C. prudent

D. fundamental

Question 4: From the passage, you can infer that a preservationist would be most likely to


A. do archaeological research





B. put treasures in a museum


C. be a diver







D. shun treasure-seeking salvagers

Question 5: Which of the following statements is best supported by the author?


A. The value of a shipwreck depends on the quantity of its artifacts.


B. Preservationists are fighting the use of technological advances such as side-scan sonar.


C. Side-scan sonar has helped to legitimize salvaging.


D. The use of sound waves is crucial to locating shipwrecks.

Question 6: The author uses the word “services” to refer to which of the following?


A. cups


B. sets


C. containers

D. decorations

Question 7: The author uses the phrase “mint condition” to describe


A. something perfect



B. something significant


C. something tolerant



D. something magical

Question 8: All of the following were found on the RMS Republic EXCEPT


A. wine bottles




B. silver tea services


C. American Gold Eagle coins


D. crystal dinnerware

Question 9: The word “scoured” is most similar to which of the following?


A. scraped away

B. scratched over
C. scrambled around
D. searched through

Question 10: The second and third paragraphs are an example of


A. chronological order
B. explanation

C. specific to general
D. definition

 Read the following passage and choose the best answer to fill in each blank.

       You can make life more difficult for thieves by (11) ________ your wallet in an inside pocket instead of a back pocket. But make sure that you still have it if someone bumps into you in a (12) ________. Most pickpockets are very skillful. Never let your handbag out of your (13) ________ On public transport, (14)________ hold of it. You are also (15) ________ to take travelers' cheques rather than cash when you go abroad, and to use cash dispensers which are on (16) ________ streets, or are well lit at night. 
         A quarter of all crimes are car thefts or thefts of   things from cars, like radio and cassette players. If your car is (17) ________, you may not get it back. One in four are never found, and even if it is, it may be badly (18) ________. Always lock all doors and windows, and think about fitting a car alarm too. If you are buying a new radio cassette player, it is (19) ________ choosing one that is security-code or removable by the driver. These precautions will help to (20) ________ thieves.

Question 11: 
A. taking

B. holding

C. carrying

D. bringing

Question 12: 
A. mass

B. band

C. crowd

D. group

Question 13: 
A. view

B. sight

C. visibility

D. vision

Question 14: 
A. keep

B. catch

C. take


D. have

Question 15: 
A. suggested

B. told


C. informed

D. advised

Question 16: 
A. main

B. important

C. principal

D. major

Question 17: 
A. robbed

B. burgled

C. stolen

D. hijacked

Question 18: 
A. hurt


B. damaged

C. spoilt

D. injured

Question 19: 
A. beneficial

B. practical

C. worthwhile

D. sensible

Question 20: 
A. put off

B. put down

C. put out

D. put back

Choose the word or phrase (A, B, C or D) that best completes unfinished sentences.

Question 21: We didn’t want to say ________ him in the meeting. He was too good to us.


A. to

B. for


C. with


D. against

Question 22: How long have you attended your ________ training?


A. military

B. militarize

C. militarism

D. militaristic

Question 23: Thanks to the help of his teacher and classmates, he made great _______ and passed the end-term exam with high marks.


A. work

B. progress

C. experience

D. fortunes

Question 24: Hemingway used the experience and knowledge ________ during World War I as the material for his best-known novel For Whom the Bell Tolls


A. gain

B. gaining

C. gained

D. to gain

Question 25: When Mr. Spendthrift ran out of money, he ________ his mother for help.


A. fell in with
B. fell upon

C. fell behind

D. fell back on

Question 26: Tessa was determined to become wealthy and to that _____ she started her own company.


A. view

B. aim


C. end


D. object

Question 27: I can’t understand why you have to make such a _____ about something so unimportant.


A. mess

B. stir


C. fuss


D. bother

Question 28: “Is dinner ready?” “No, mother is ________ it ready now.”


A. doing

B. cooking

C. getting

D. preparing

Question 29: Grace Kelly was first famous as a Hollywood actress and ____ Prince Rainier of Monaco.


A. as the wife of



B. to be the wife of



C. she was the wife of


D. the wife of

Question 30: You look tired. ___________ hard all day?


A. Have you been working

B. Did you work



C. Are you working


D. Do you work

Question 31: We watch the cat_______ the tree.


A. climb

B. climbed

C. had climbed
D. was climbing

Question 32: If only motorists _________ drive more carefully.


A. might

B. shall

C. would

D. should

Question 33: When it is very hot, you may _____ the top button of your shirt.


A. untie

B. undress

C. unwrap

D. undo

Question 34: The police are looking for a man of ___________ height.


A. medium
B. extra

C. tall


D. special

Question 35: What on earth is going ________ in there?


A. round

B. down

C. up


D. on

Question 36: May I have _________ more meat, please?


A. a little

B. small

C. another

D. a few

Question 37: My sister Jo is ________ person in our family


A. the shortest
B. the shorter

C. the most short
D. shorter

Question 38: “How does the washing machine work?”    “________”


A. Not often
B. Too much

C. A little

D. Like this

Question 39: I have no brothers or sisters. I’m ______ child.


A. an only

B. a sole

C. a unique

D. a single

Question 40: They ______ because it is a national holiday.


A. don’t wok
B. won’t working
C. haven’t worked
D. aren’t working

Question 41: "Never say that again,______?"


A. don't you
B. will you

C. do you

D. won't you

Question 42: Ann __________ thought and didn’t hear him call.


A. was lost after
B. lost in

C. was losing in
D. was lost in

Question 43: You have to pay more if you have _____ baggage.


A. enough

B. excess

C. many

D. several

Question 44: The pair of jeans I bought didn’t fit me, so I went to the store and asked for ______.


A. another jeans
B. others ones

C. another pair

D. the other ones

Question 45: She was asked to give a full __________ of her camera when she reported it stolen.


A. account

B. detail

C. description

D. information

Question 46: "More coffee? Anybody?" – “________”


A. I don't agree, I'm afraid     

B. B. I'd love to



C. Yes, please



D. It's right, I think

Question 47: "Oh, I'm really sorry!"- “________.”


A. It was a pleasure.


B. That's all right.



C. Thanks.




D. Yes, why?

Question 48: “Can I leave early?”    “________.”


A. Yes, that’s fine

B. Before 4.30

C. Not at all

D. You’re welcome

Question 49: You didn’t think I was being serious, did you, Brian? It was a joke. I was pulling your _______. That’s all.


A. thumb

B. hair


C. toe


D. leg

Question 50: I love working as a _________ in England better than an interpreter here.


A. tour specialized guide


B. specialized tour guide


C. tour guide specialized


D. guide specialized tour

Choose the underlined words or phrases that are not correct
Question 51: When the silkworm gets through to lay its eggs, it dies.

                                  A                            B            C    D

Question 52: The high protein content of various strains of alfalfa plants, along with the

                                                         A   

                       characteristically long root system that enables them to survive long droughts, make them

                                   B                                                                                                                   C 

                       particularly valuable in arid countries

                              D

Question 53: A fiber-optic cable across the Pacific went into service in April 1989, link the United 

                                                          A                            B                    C                      D 

                       States and Japan.

Question 54: The Gray Wolf, a species reintroduced into their native habitat in Yellowstone National 

                                                                        A                                B

                       park, has begun to breed naturally there.

                                        C                        D

Question 55: Those of you who signed up for Dr Daniel’s anthropology class should get their books as 

                            A                B                    C                                                                             D

                       soon as possible.

Read the following passage and choose the best answer.

          In the folklore of the Navajo people, it was said that frogs and toads fell from the sky when it rained. The phenomenon that gave rise to this belief involved the spadefoot toad, which remains dormant beneath the Sonoran Desert of Arizona, avoiding the heat and drought for as long as eight or nine months. With the onset of summer thunderstorms, however, the toads respond to the vibrations of drumming raindrops and emerge, as if fallen from the sky with the rain, to begin their brief and frantic, mating season.
    The male spadefoot sits in a muddy pool and fills the night with his calls, attempting to attract a female of the same species. Once a female joins him, she may lay as many as 1,000 eggs in the small pool of life-sustaining rainwater. From that point it's a race against the elements for the young, who must hatch and mature with remarkable speed before the pool evaporates beneath the searing desert sun. As the pool grows smaller and smaller, it becomes thick with tadpoles fighting for survival in the mud, threatened not only by loss of their watery nest but also by devouring insects and animals. In as few as nine days after fertilization of the eggs, those lucky enough to survive develop through each tadpole stage and finally emerge as fully formed toads. After gorging themselves on insects, the young toads, like their parents, burrow underground, where they will lie dormant awaiting the next summer's storms.

Question 56: What does the passage mainly discuss?


A. Navajo folklore


B. Weather in the Sonoran Desert of Arizona


C. The habits of the spadefoot toad


D. The mating rituals of the male spadefoot toad

Question 57: According to the passage, the spadefoot toad ______


A. is dormant for as long as nine months




B. reproduces during winter rains


C. eats leaves and grasses






D. develops very slowly

Question 58: Which of the following is NOT TRUE of the spadefoot toad?


A. They are active only three or four months a year


B. The female lays her eggs in pools of water


C. The searing desert sun is their only enemy


D. many tadpoles die before they reach maturity

Question 59: It can be concluded from the passage that ______


A. spadefoot toads could exist for years without rain


B. the Navajo legends are based on acute observations


C. spadefoot toads are well adapted to their environment


D. the chances of a tadpole’s becoming an adult are very great

Question 60: The author is most likely a ______


A. botanist


B. biologist

C. chemist

D. geographer

Question 61: This  passage is most likely followed a passage on ______


A. weather patterns in the Sonorant Desert
B. methods of reproduction among insects


C. dwellings of the Navajo people

D. other desert animals

Question 62: The word “frantic” is closest in meaning to ______


A. lengthy


B. excited

C. froglike

D. dangerous

Question 63: The word “elements” is closest in meaning to______


A. weather


B. time


C. environment
D. thunderstorms

Question 64: The word “gorging” is closest in meaning to ______


A. mating


B. digging

C. enjoying

D. devouring

Question 65: Where in the passage is the geographic location that the spadefoot toads inhabit mentioned?


A. line 1


B. line 3-4

C. line 9

D. line 16-17

Choose the word that has the main stress placed differently from that of the others.

Question 66: 
A. employee

B. refugee

C. committee

D. referee

Question 67: 
A. terminate

B. detriment

C. different

D. determine

Question 68: 
A. benevolent

B. profitable

C. essential

D. equivalent

Question 69: 
A. educational

B. instructional
C. miraculous

D. conventional

Question 70: 
A. physiology

B. economics

C. nominate

D. competition

Choose the sentence which is closest in meaning to the printed one 

Question 71: How lucky! You called me, because I tried to call you a few minutes ago and got a busy 

                       signal.


A. You luckily called me, so I didn’t have to call you for a few minutes because the signal was busy.


B. Luckily, you called me in time, for I failed to call you a few minutes ago.


C. The busy signal prevented me from calling you a few minutes ago, so please call me back.


D. I was not lucky enough to call you a few minutes ago because I was busy.

Question 72: You must have boiled the potatoes too long.


A. The potatoes were not boiled long enough.


B. It was not long before the potatoes were boiled.


C. It was not necessary to boil the potatoes too long.


D. You had to boil the potatoes too long.

Question 73: Sarah is not usually late.


A. Sarah does not like to be late.



B. Sarah is not likely being late.


C. It is not like Sarah to be late.



D. It is not likely to be late for Sarah

Question 74: If I was in your shoe, I would let him go.


A. I suggest that you let him go.


B. I advise you to wear your shoes and let him go.


C. I would like to be in your shoe so you could let him go.


D. I was wearing your shoes and would like to let him go.

Question 75: The teacher will refuse to help you if he happens to know the truth.


A. Unless the teacher knows the truth, he will refuse to help you.


B. Should the teacher know the truth, he will refuse to help you.


C. The teacher will refuse to help you if the truth happens.


D. Should the teacher happen to know the truth, he won't refuse to help you.

Question 76: From these reviews, we should see the movie, don’t you think?


A. I don’t think we should see the movie.


B. You don’t think we should see the movie, do you?


C. You and I are not in agreement about the reviews of the movie.


D. I think we should see the movie.

Question 77: "I appreciate your offering me a ride, but I have my brother’s car. Thanks anyway.”


A. His friend will give him a ride.


B. His brother will give him a ride.


C. He refused a ride because he will drive home.


D. He is grateful to get a ride with his friend.

Question 78: Someone has run off with out tickets.


A. Our tickets have been stolen.


B. Someone has run off to get our tickets.


C. Our tickets has been picked up by someone.
D. Someone has destroyed our tickets.

Question 79: Sue signed up for a crash course in German.


A. Sue enrolled in an intensive German language course.


B. Sue had a bad accident in German.


C. Sue booked a trip to German.


D. Sue met a German in her math course.

Question 80: The secret to success is hard work.


A. One must work hard to keep secrets.


B. Working hard ensures success.


C. One cannot succeed if he has secrets


D. If you keep your work secret, you will succeed.
PRACTICE TEST 3
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 1 to 10.

Just two months after the flight of Apollo 10, the Apollo 11 astronauts made their historic landing on the surface of the Moon. This momentous trip for humanity also provided scientists with an abundance of material for study; from rock and soil samples brought back from the Moon, scientists have been able to determine much about the composition of the Moon (as well as to draw) inferences about the development of the Moon from its composition.

The Moon soil that came back on Apollo 11 contains small bits of rock and glass which were probably ground from larger rocks when meteors impacted with the surface of the Moon. The bits of glass are spherical in shape and constitute approximately half of the Moon soil. Scientists found no trace of animal or plant life in this soil.

In addition to the Moon soil, astronauts gathered two basic types of rocks from the surface of the Moon: Basalt and breccia. Basalt is a cooled and hardened volcanic lava common to the Earth. Since basalt is formed under extremely high temperatures, the presence of this type of rock is an indication that the temperature of the Moon was once extremely hot. Breccia, the other kind of rock brought back by the astronauts, was formed during the impact of falling objects on the surface of the Moon. This second type of rock consists of small pieces of rock compressed together by the force of impact. Gases such as hydrogen and helium were found in some of the rocks, and scientists believe that these gases were carried to the Moon by the solar wind, the streams of gases that are constantly emitted by the Sun.

Question 1: The paragraph preceding the passage most likely discusses


A. astronaut training.



B. The inception of the Apollo space program.


C. a different space trip.


D. previous Moon landings.

Question 2: What is the subject of this passage?


A. The Apollo astronauts.


B. Soil on the Moon.


C. What the Moon is made of.

D. Basalt and breccia.

Question 3: According to the passage, what does Moon soil consist of?


A. Hydrogen and helium.


B. Large chunks of volcanic lava.


C. Tiny pieces of stones and glass.

D. Streams of gases.

Question 4: Which of the following was NOT brought back to the Earth by the astronauts?


A. Basalt

B. Soil 

C. Breccia

D. Plant life

Question 5: According to the passage, breccia was formed


A. when objects struck the Moon.




B. from volcanic lava.


C. When streams of gases hit the surface of the Moon.


D. from the interaction of helium and hydrogen.

Question 6: It is implied in the passage that scientists believe that the gases found in the Moon rocks.


A. were not originally from the Moon.
B. were created inside the rocks.


C. traveled from the Moon to the Sun.
D. caused the Moon's temperature to rise.

Question 7: The word 'emitted' in the last paragraph is closest in meaning to 


A. set off

B. vaporized

C. sent out

D. separated

Question 8: The author's purpose in this passage is to


A. describe some rock and soil samples.


B. explain some of the things learned from space flights.


C. propose a new theory about the creation of the Moon.


D. demonstrate the difference between basalt and breccia.

Question 9: It can be interred from the passage that.


A. the only items of importance that astronauts brought back from the Moon were rock and soil 
                 samples.


B. scientists learned relatively little from the Moon rock and soil samples.


C. scientists do not believe that it is necessary to return to the Moon.


D. rock and soil samples were only some of a myriad of significant items from the Moon.

Question 10: Which of the following would serve as the best title of the passage:


A. Apollo 11




B. things from the space flights



C. rock on the Moon 



D. Astronauts 

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 11 to 20.


Anyone who has gone on a skiing holiday at a ski (11) _____  of any size will be familiar with the old-aged problem-the eternal wait for ski lifts and cable cars. Well, there is an alternative. If you feel like something just a (12)_____ different why not try heli-skiing in Canada? Somewhere in the snowy (13)______ of the Rocky Mountains the helicopter will deposit you and your group onto a slope of virgin snow that you have all to yourselves. It is all a (14)_____ cry from the busiest slopes of, say, Switzerland, France, and Italy. You are fifty miles from the nearest town and there is nothing remotely (15)_____  a ski lift, so you have to (16)______ on legs, skis and the chopper. You might see the (17)_____ Mountain-goat or grizzly bear, but there won't be (18)_____ of other skiers. There are one or two disadvantages. Your friendly helicopter pilot might just put you down in a five-metre snow (19)_____ . And freezing weather might ground your helicopter and leave you (20)____ in the wilderness.
Question 11: A. spot


B. haunt

C. refuge

D. resort

Question 12: A. little


B. few


C. big


D. lot

Question 13: A. cover

B. county

C. wastes

D. refuge

Question 14: A. different 

B. strange

C. far


D. long

Question 15: A. resembling

B. appearing

C. seeming

D. looking

Question 16: A. count 

B. trust


C. rely


D. reckon

Question 17: A. occasional

B. sometime

C. incidental

D. irregular

Question 18: A. bunches

B. hordes

C. throngs

D. swarms

Question 19: A. dune


B. pile


C. mound 

D. drift

Question 20: A. deserted

B. stranded

C. marooned

D. aground

  Mark the letter A, B, C or D on your sheet answer sheet to indicate the word that differs from the rest in  the position of the main stress in each of the following questions.

Question 21: A. pioneer

B. destination

C. artificial

D. essential

Question 22: A. diplomatic

B. disappear

C. memorial

D. presidential

Question 23: A. percent

B. courtesy

C. doctor

D. weather

Question 24: A. perfect

B. hopeful

C. burglary

D. detective

Question 25: A. dramatic

B. inconsistent

C. amazing

D. resemble

 Mark the letter A, B, C or D on your sheet answer sheet to indicate the correct answer to each of the following questions.

Question 26: It's essential that every student ______ the exam before attending the course.




A. pass


B. passes

C. would pass

D. passed

Question 27: She acted as if she______  a clown before.




A. has never seen
B. not saw

C. wouldn't see
D. had never seen

Question 28: There is a huge amount of______  associated with children's TV nowadays.




A. produce

B. manufacturing
C. merchandising
D. sales

Question 29: You must ______  these instructions very carefully.




A. bring out

B. carry out

C. carry on

D. get up to

Question 30: "Is dinner ready?"       "No, mother is______ it ready now"




A. doing

B. cooking

C. preparing

D. getting

Question 31: He found______ to answer all the questions within the time given.




A. that impossible
B. it impossible
C. it impossibly
D. that impossibly

Question 32: ______ be needed, the river basin would need to be dammed.




A. Hydroelectric power should

B. When hydroelectric power




B. Hydroelectric power


D. Should hydroelectric power

Question 33: The players were cheered by their______ as they came out of the pitch.




A. audience

B. supporters

C. viewers

D. public

Question 34: I just can't ______ that noise any longer!




A. put up with

B. stand in for

C. sit out

D. stand up to

Question 35: He spent______ dollars on food and drinks.




A. only few

B. only a few

C. very a few

D. only a little

Question 36: Tim clearly had no______ of doing any work, although it was only a week till the final exam.




A. desire

B. ambition

C. willingness

D. intention

Question 37: The more you study during the semester,______ the week before exams.




A. the less you have to study


B. you have to study the less




C. the less have you to study


D. the study less you have

Question 38: Look! The yard is wet. It______ last night.




A. must rain
B. couldn't have rained 
C. must have rained
D. should have rained

Question 39: ______ today, he would get there on Sunday.




A. Was he leaving
B. If he leaves
   
C. Were he to leave  
D. If he is leaving

Question 40: He asked me ______  the book I borrowed from the library.




A. If I found




B. If I had found




C. whether I have found


D. whether I found

Question 41: These days almost everybody______ the dangers of smoking




A. know of

B. are aware of
C. is aware about
D. is aware of

Question 42: Nha Trang, ______ last year, is excellent for holiday-makers.




A. we visited

B. which we visited
C. that we visited
D. visited

Question 43: ______ the girls has turned in the papers to the instructor yet.




A. Neither of

B. Both of

C. None of

D. All of

Question 44: Thousands of antibiotics______ , but only about thirty are in common use today.




A. have developed  



B. are developing   



C. have been developed   


D. have been developing

Question 45: The doctor told him that the______ he would gain from a healthy diet would be well worth 
                      the sacrifice.




A. profits

B. benefits

C. advantages

D. welfare

Question 46: ______ the water clear but also prevent the river from overflowing.



A. Not only the hippo's eating habits keep



B. Keep not only the hippo's eating habits.



C. The hippo's eating habits not only keep.



D. Not only keep the hippo's eating habits.

Question 47: When you want your friend to wait for you to finish what you're doing, you say "______ "



A. One moment
B. A moment

C. One minute

D. Just a minute

Question 48: Not until about a century after Julius Caesar landed in Britian___ actually conquer the island.



A. the Romans did
B. did the Romans
C. the Roman

D. Romans that

Question 49: The doctor who performs operations at a hospital  is called a(n)______ 


A. operator

B. physician

C. surgeon

D. dentist

Question 50: It's worth ______ if there are any cheap flights to Paris at the weekend.



A. find out

B. to find out

C. that you find out
D. finding out

Question 51: According to my______ , we should have enough money for the rest of the month.



A. estimates

B. calculations

C. suspicions

D. expectation

Question 52: James Cook,______ , also discovered the Hawaiian Islands.



A. by exploring the South Sea he reached Australia.



B. explored the South Sea and reaching Australia.



C. who explored the South Sea and reached Australia.



D. explored the South Sea then reached Australia.

Question 53: ______ should a young child be allowed to play with fireworks without adult supervision




A. Under no circumstances
B. No sooner than 
C. Always
D. Only when

Question 54: We got on well when we shared a flat,______ 


A. in spite of the difference in our old.




B. despite her being much older than me.



C. in spite the fact that I was much older than her.



D. although the difference in our age.

Question 55: "We're going to the seaside."     "Can ______ ?"



A. I come as well
B. also I come

C. I too come

D. I as well come

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 56 to 65. 

Although noise, commonly defined as unwanted sound, is a widely recognized form of pollution, it is very difficult to measure because the discomfort experienced by different individuals is highly subjective and, therefore, variable. Exposure to lower levels of noise may be slightly irritating, whereas exposure to higher levels may actually cause hearing loss. Particularly in congested urban areas, the noise produced as a by-product of our advancing technology causes physical and psychological harm, and detracts from the quality of life for those who are exposed to it.
Unlike the eyes, which can be covered by the eyelids against strong light, the ear has no lid, and is, therefore, always open and vulnerable; noise penetrates without protection.

Noise causes effects that the hearer cannot control and to which the body never becomes accustomed. Loud noises instinctively signal danger to any organism with a hearing mechanism, including human beings. In response, heartbeat and respiration accelerate, blood vessels constrict, the skin pales and muscles tense. In fact, there is a general increase in functioning brought about by the flow of adrenaline released in response to fear, and some of these responses persist even longer than the noise, occasionally as long as thirty minutes after the sound has ceased.

Because noise is unavoidable in a complex, industrial society, we are constantly responding in the same way that we would respond to danger. Recently, researchers have concluded that noise and our response may be much more than an annoyance. It may be a serious threat to physical and psychological health and well-being, causing damage not only to the ear and brain but also to the heart and stomach. We have long known that hearing loss is America's number one nonfatal health problem, but now we are learning that some of us with heart disease and ulcers may be victims of noise as well. Fetuses exposed to noise tend to be overactive, they cry easily, and they are more sensitive to gastrointestinal problems after birth. In addition, the psychic effect of noise is very important. Nervousness, irritability, tension, and anxiety increase, affecting the quality of rest during sleep, and the efficiency of activities during waking hours, as well as the way that we interact with each other.

Question 56: Which of the following is the author's main point?


A. Noise may pose a serious threat to our physical and psychological health.


B. Loud noises signal danger.

C. Hearing loss is America's number one nonfatal health problem.

D. The ear is not like the eye.
Question 57: According to the passage, what is noise?


A. Unwanted sound



B. A by-product of technology


C. Physical and psychological harm

D. Congestion

Question 58: Why is noise difficult to measure?


A. It causes hearing loss


B. All people do not respond to it the same way
C. It is unwanted



D. People become accustomed to it.

Question 59: The word congested in paragraph 1 could best be replaced by


A. hazardous

B. polluted

C. crowded

D. rushed

Question 60: It can be inferred from the passage that the eye.


A. responds to fear



B. enjoys greater protection than the ear


C. increases functions



D. is damaged by noise

Question 61: In the passage, people respond to loud noises in the same way that they respond to


A. annoyance

B. disease

C. damage

D. danger

Question 62: The word accelerate in paragraph 3 is closest in meaning to


A. decrease

B. alter


C. increase

D. release

Question 63: The word it in the first paragraph refers to


A. the noise




B. the quality of life


C. advancing technology


D. a by-product

Question 64: With which of the following statements would the author most probably agree?


A. Noise is not a serious problem today


B. Noise is America's number one problem.


C. Noise is an unavoidable problem in an industrial society


D. Noise is a complex problem

Question 65: The phrase as well in paragraph 4 is closest in meaning to


A. after all

B. also


C. instead

D. regardless

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 66: One of the greatest factors hindering efficient farming and agricultural development since 

                                                                       A                                                    B                                C

                      the war have been the lack of information.

                                         D

Question 67: A number of large insurance companies has their headquarters in the capital city.

                            A                                                         B                 C                               D

Question 68: Happy people find it easily to get to sleep and they sleep soundly

                           A                              B                  C                                    D

Question 69: The professor decided to allow the students taking the exam a second time because of the 

                                                               A                               B                          C                                D

                      low score.

Question 70: New laws should be introduced to reduce the number of traffic in the city center.

                          A                           B                                    C                                       D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 
Question 71: In spite of his tiredness, Joe managed to finish his work

A. Although he is tired, Joe managed to finish his work

B. Joe managed to finish his work but he was tired.

C. Despite he was tired, Joe managed to finish his work

D. Tired as he seemed to be, Joe managed to finish his work

Question 72: It is possible that we won't have to take an entrance exam this year.

A. Perhaps we don't have to take an entrance exam this year.

B. We must take an entrance exam this year.

C. We mightn't take an entrance exam this year.

D. It is very likely that we will take an entrance exam this year.

Question 73: It's ages since I last saw a Hollywood film.

A. I saw a last Hollywood film since ages ago.

B. I haven't seen a Hollywool film for a long time.

C. I haven't seen any Hollywood films before.

D. It's ages because I last saw a Hollywood film. 

Question 74: He offered to help her with the heavy suitcase, which was kind.

A. The suitcase which he offered to help her with was kind.

B. It was kind of him to offer to help her with the suitcase

C. He offered to help her but the suitcase was too heavy.

D. It was kind of her to have him help with the suitcase

Question 75: Mary apologises for having kept them waiting.

A. Mary has been waiting for them for a long time.

B. Mary is sorry they were very late.

C. Mary says they called to say they will be late.

D. Mary is sorry that she made them wait for her.

Question 76: I'd rather stay home than go out with him

A. I'd prefer to stay home to going out with him

B. I'd better stay home than go out with him

C. I don't want to go out with him so I choose to stay home.

D. I decide to stay home instead going out with him

Question 77: If he could speak French, he would be able to get a job there.

A. He couldn't speak French so he wasn't given the job there.

B. He can't speak French, so he won't be able to get a job there.

C. He can't speak French because he won't get a job there.

D. He wishes he can speak French and worked there.

Question 78: "Why didn't you join your friends on the trip?" she asked

A. She asked me why I didn't join her friends on the trip.

B. She wanted to know why I hadn't joined my friends on the trip.

C. She asked for the reason I hadn't joined my friends on the trip.

D. She asked me why didn't I join my friends on the trip.

Question 79: You should have had your eyes tested though it's necessary.

A. You haven't had your eyes tested though it's necessary

B. Your eyes should be tested a long time ago.

C. You had your eyes tested a long time ago.

D. It's a long time ago since you have had your eyes tested

Question 80: I wish we had gone somewhere else for the holiday.

A. If only we went somewhere else for the holiday.

B. It's a pity we didn't go there for the holiday.

C. If we had gone for a holiday, I would have gone somewhere else.

D. I regret not having gone somewhere else for the holiday.

PRACTICE TEST 4
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 1: 
A. foreword 

B. preface 

C. index 

D. mature

Question 2: 
A. character 

B. procedure 

C. sophomore 

D. plagiarize

Question 3: 
A. photography 
B. inaccurate  

C. eligible 

D. originate

Question 4: 
A. official 

B. delicate 

C. opponent 

D. diploma

Question 5: 
A. extracurricular 
B. auditorium 

C. recommendation 
D. cooperation

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following Questions.
Question 6: Workers who do not obey the safety regulations will be _______ immediately.

A. refused 


B. rejected 

C. disapproved 
D. dismissed

Question 7: I’m sorry, teacher. I’ve _______ my homework on the bus.

A. forgotten 


B. let 


C. missed 

D. left

Question 8: She _______ for hours. That’s why her eyes are red now.

A. cried 


B. has been crying 
C. has cried 

D. was crying

Question 9: TOEFL stands for _______ .

A. Teaching of English like a Foreign Language  
 B. Testing of English as a Foreign Language

C. Teaching of English as a Foreign Language 
 D. Test of English as a Foreign Language

Question 10: He did not share his secrets with many people but he _______ in her.

A. confessed 


B. consented 

C. confided 

D. revealed

Question 11: He drove fast and arrived an hour _______ of schedule.

A. in advance 


B. ahead 

C. in front 

D. on account

Question 12: The area was _______ by that storm, wasn’t it ?

A. attacked 


B. struck 

C. beaten 

D. infected

Question 13: An architect planning a new house should always _______ in mind his client’s needs.

A. carry 


B. bear 

C. remember 

D. take

Question 14:  My sister supports her living by _______ of evening jobs.

A. means 


B. ways 

C. methods 

D. measures

Question 15: He always did well at school _______ having his early education disrupted by illness.

A. apart from 


B. in spite of 

C. in addition to 
D. because of

Question 16: In ____ people, the areas of the brain that control speech are located in the left hemisphere.

A. mostly  


B. most  

C.  almost  

D. most of

Question 17: Stars shine because of _______ produced by the nuclear reactions taking place within them.

A. the amount of light and heat is 


B. which the amount of light and heat

C. the amount of light and heat that it is 

D. the amount of light and heat

Question 18:  ________ is not clear to researchers.

A. Why did dinosaurs become extinct  

B. Why dinosaurs became extinct

C. Did dinosaurs become extinct  


D. Dinosaurs became extinct

Question 19: _______ no two people think exactly alike, there will always be disagreement, but disagreement should not always be avoided; it can be healthy if handled creatively.

A. When 


B. While 

C. Unless  

D. Because

Question 20: Drinking water ________ excessive amounts of fluorides may leave a stained or mottled effect on the enamel of teeth.

A. containing 


B. including 

C. made up of 

D. composed of

Question 21: One theory of the origin of the universe is ________ from the explosion of a tiny, extremely dense fireball several billion years ago.

A. when forming 
B. the formation that 
   C. that it formed 
D. because what formed 

Question 22: ________ at the site of a fort established by the Northwest Mounted Police, Calgary is now one of Canada’s fastest growing cities.

A. Built  

B. It is built  


C. To build  

D. Having built

Question 23: Harry’s new jacket doesn’t seem to fit him very well. He _______ it on before he bought it.

A. must have tried 
B. should have tried 

C. needn’t have tried 
D. might have tried
Question 24:  Today all five species of rhinos are perilously close ________ extinction.


A. with 

B. to 



C. of 


D. for


Question 25:  My neighbor is  ______ ; he is always showing that he never cares about his bad behavior.

A. barefaced 

B. grim-faced 


C. faceless 

D. face-saving

Question 26: Why don’t you ask the man where ________to eat?

A. he would rather 
B. would he like  

C. he would like 
D. he feels like

Question 27: 
Jack: “Many happy returns, Jill.” 

Jill: “________”


A. Thank you.
B. Good luck!
C. Really? When?
D. The same to you!

Question 28: It is necessary that one ________ a lawyer before signing an important contract.

A. consulted  

B. consult 


C. consults 

D. has consulted

Question 29: 
Linda: “I’m getting married next week.”

      

Janet: “ ________”

A. Good luck! 

B. Congratulations! 

C. My best regards! 
D. Bravo!

Question 30: 
Smith: “I’m afraid I can’t come with you.”

John: “________”

A. What a shame!  
B. It’s shameful! 

C. Thank you 

D. I don’t think so

Question 31: She kindly offered to ________ me the way to the post office.

A. explain 

B. direct 


C. describe 

D. show

Question 32: The train was ________ by a heavy snowfall.

A. held off 

B. held out 


C. held back 

D. held up

Question 33: It was so quiet; you could have heard a ________ drop.

A. pin 


B. feather 


C. leaf 


D. sigh

Question 34: More than a billion people all over the world are ________ threat of desert expansion.

A. in 


B. under 


C. on 


D. with

Question 35. Can you see to these letters first, please? The others ________ answered immediately.

A. must be 

B. don’t have to be 

C. mustn’t be 

D. have to be

 

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 36: The population of California more than doubled during the period 1940-1960, creating
                                                                                 A                                 B

                     problems in road-building and provide water for its arid southern section.

                           C                                            D  

Question 37: Hard and resistant to corrosion, bronze is traditionally used in bell casting and is the material 
                                             A                                                B                               C       

                     used widely most for metal sculpture.

                                      D

Question 38: In a microwave oven, radiation penetrates food and is then absorbed primarily by water 
                                                                                                     A                                  B

                     molecules, caused heat to spread through the food.

                                            C                                              D

Question 39: A liquid that might be a poor conductor when pure is often used to make solutions that readily 
                                                              A                            B                                  C  

                     transmits electricity.

                          D

Question 40: By identifying similar words or structures in different languages, we find evidence that those 
                                  A                                

                      languages are related and may be derived from same ancestor .

                                            B                                   C                        D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following Questions.
Question 41: I remember someone giving me a rubber doll on my 10th birthday.

A. Someone is remembered giving me a rubber doll on my 10th birthday.

B. I am given a rubber doll on my 10th birthday by someone I remember.

C. On my 10th birthday, a rubber doll is remembered by someone giving me.

D. I remember being given a rubber doll on my 10th birthday.
Question 42: Mary exclaimed that the singer’s voice was so sweet.

A. “How sweet is the singer’s voice?” said Mary. 

B. “What a sweet voice the singer has,” said Mary.

C. “How sweet voice the singer is,” said Mary.

D. “What a sweet voice the singer is,” said Mary.

Question 43: You should not keep bad company under any circumstances.

A. In no circumstances should you be friends with bad people.

B. Under no circumstances should you not keep bad company.

C. Under any circumstances shouldn’t you make friends with bad people.

D. In no circumstances should you keep your company because it is bad.

Question 44: Mr. Smith is very interested in our plan. I spoke to him on the phone last night.

A. Mr. Smith, who is very interested in our plan, I spoke to on the phone last night.

B. Mr. Smith, to whom I spoke on the phone last night, is very interested in our plan.

C. Mr. Smith is very interested in our plan to whom I spoke on the phone last night.

D. Mr. Smith, who I spoke on the phone last night, is very interested in our plan.

Question 45: “Thank you, John! See you again,” Jane said.

A. Jane said thank you John and see him again.

B. Jane thanked John and said see him again.

C. Jane thanked John and said goodbye to him.

D. Jane thanked John and saw him again.

Question 46: Although she was disabled, she was quite confident the first time she practiced this sport.

A. Though a disabled girl, she was quite confident the first time she practiced this sport.

B. Though she was unable to walk, but the first time she practiced this sport, she was quite confident.

C. In spite of being quite confident the first time she practiced this sport, she was disabled.

D. She was quite confident when practicing this sport for the first time though she was a disabled girl.

Question 47: Unlike her friends, she disagreed strongly with the idea of moving abroad.

A. Her friends were in favor of the idea of moving abroad- that is why she disagreed strongly with them.

B. Different from her friends, she was opposed to the idea of moving abroad.

C. She disliked her friends, and didn’t support the idea of moving abroad.

D. She disagreed strongly with her friends, who came up with the idea of moving abroad.

Question 48: "Shall I make you a coffee?" the girl said to the man.


A. The girl wanted to make a coffee for the man.


B. The girl was asked to make a coffee for the man.


C. The girl promised to make a coffee for the man.

D. The girl offered to make a coffee for the man

Question 49: Impressed as we were by the new album, we found it rather expensive.

A. The new album was more expensive than we expected.

B. We were very impressed by the new album, but  found it rather expensive.

C. We were not impressed by the new album at all because it looked rather expensive.

D. We weren’t as much impressed by the new album’s look as its price.

Question 50: The onset of the disease is shown by a feeling of faintness.

A. One feels faint if the disease is over.


B. A feeling of faintness signals the final stage of the disease.

C. The first sign of the disease is a feeling of faintness.



D. Faintness causes the disease.

 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the Questions.
There is a common expression in the English language referring to a blue moon. When people say that something happens “only once in a blue moon,” they mean that it happens only very rarely, once in a great while. This expression has been around for at least a century and a half; there are references to this expression that date from the second half of the nineteenth century.

The expression “a blue moon” has come to refer to the second full moon occurring in any given calendar month. A second full moon is not called a blue moon because it is particularly blue or is any different in hue from the first full moon of the month. Instead, it is called a blue moon because it is so rare. The moon needs a little more than 29 days to complete the cycle from full moon to full moon. Because every month except February has more than 29 days, every month will have at least one full moon (except February, which will have a full moon unless there is a full moon at the very end of January and another full moon at the very beginning of March). It is on the occasion when a given calendar month has a second full moon that a blue moon occurs. This does not happen very often, only three or four times in a decade.

The blue moons of today are called blue moons because of their rarity and not because of their color; however, the expression “blue moon” may have come into existence in reference to unusual circumstances in which the moon actually appeared blue. Certain natural phenomena of gigantic proportions can actually change the appearance of the moon from Earth. The eruption of the Krakatoa volcano in 1883 left dust particles in the atmosphere, which clouded the sun and gave the moon a bluish tint. This particular occurrence of the blue moon may have given rise to the expression that we use today. Another example occurred more than a century later. When Mount Pinatubo erupted in the Philippines in 1991, the moon again took on a blue tint.

Question 51: This passage is about

A. a phase of the moon


B. an unusual color 



C. a month on the calendar 


D. an idiomatic expression 

Question 52: How long has the expression “once in a blue moon” been around?

A. For around 50 years 


B. For less than 100 years 


C. For more than 100 years 


D. For 200 years 

Question 53: A blue moon could best be described as 



A. a full moon that is not blue in color 
B. a new moon that is blue in color

C. a full moon that is blue in color 

D. a new moon that is not blue in color

Question 54: The word “hue” in the passage is closest in meaning to

A. shape 

B. date 

C. color 

D. size

Question 55: Which of the following might be the date of a “blue moon”?

A. January 1 

B. February 28 
C. April 15 

D. December 31

Question 56: How many blue moons would there most likely be in a century?

A. 4 


B. 35 


C. 70 


D. 100

Question 57: According to the passage, the moon actually looked blue

A. after large volcanic eruptions 

B. when it occurred late in the moon

C. several times a year 


D. during the month of February

Question 58: The expression “given rise to” in the passage could be best replaced by

A. created a need for 



B. elevated the level of 

C. spurred the creation of 


D. brighten the color of

Question 59: Where in the passage does the author describe the duration of a lunar cycle?

A. Lines 2-3    
B. Lines 7-8

C. Lines 9-10

D. Lines 10-11

Question 60: The phrasal verb “took on” in the passage could be best replaced by

A. employed 

B. began to have 
C. undertook 

D. tackled

 

Read the following passage and blacken the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks 
The ability to weep is a uniquely human form of emotional response. Some scientists have suggested that human tears are evidence of an aquatic past- but this does not seem very likely. We cry from the moment we enter this (61) _______ for a number of reasons. Helpless babies cry to (62) _______ their parents that they are ill, hungry or uncomfortable. As they (63) _______, they will also cry just to attract parental attention and will often stop when they get it.

The idea that having a good cry can do you (64) _______  is a very old one and now it has scientific validity since recent research into tears has shown that they contain a natural painkiller called enkaphalin. By (65) _______ sorrow and pain, this chemical helps you to feel better. Weeping can increase the quantities of enkaphalin you (66) _______.

Unfortunately, in our society we impose restrictions (67) _______ this naturally healing activity. Because some people still regard it as a (68) _______ of weakness in men, boys in particular are admonished when they cry. This kind of repression can only increase stress, both emotionally and physically.

Tears of emotion also help the body (69) _______ itself of toxic chemical waste, for there is more protein in them than in tears resulting (70) _______ cold winds or other irritants. Crying comforts, calms people and can be very enjoyable- consider the popularity of the highly emotional films which are commonly called weepies. It seems that people enjoy crying together almost as much as laughing together.

Question 61: 
A. world 

B. place 

C. earth 

D. space

Question 62: 
A. inform 

B. communicate 
C. persuade 

D. demonstrate

Question 63: 
A. evolve 

B. develop 

C. alter 

D. change

Question 64: 
A. good 

B. fine 


C. better 

D. well

Question 65: 
A. struggling 

B. fighting 

C. opposing 

D. striking

Question 66:
A. construct 

B. achieve 

C. provide 

D. produce

Question 67: 
A. for 


B. to 


C. about 

D. upon

Question 68: 
A. hint 

B. feature 

C. sign 

D. symbol

Question 69: 
A. expel 

B. escape 

C. release 

D. rid

Question 70. 
A. in 


B. from 

C. by 


D. to

 

Read the following passage and blacken the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the Questions.
During the seventeenth and eighteenth centuries, almost nothing was written about the contribution of women during the colonial period and the early history of the newly formed United States Lacking the right to vote and absent from the seats of power, women were not considered an important force in history. Anne Bradstreet wrote some significant poetry in the seventeenth century, Mercy Otis Warren produced the best contemporary history of the American Revolution, and Abigail Adams penned important letters showing she exercised great political influence over her husband, John, the second President of the United States. But little or no notice was taken of these contributions. During these centuries, women remained invisible in history books. Throughout the nineteenth century, this lack of visibility continued, despite the efforts of female authors writing about women. These writers, like most of their male counterparts, were amateur historians. Their writings were celebratory in nature, and they were uncritical in their selection and use of sources.

During the nineteenth century, however, certain feminists showed a keen sense of history by keeping records of activities in which women were engaged. National, regional, and local women’s organizations compiled accounts of their doings. Personal correspondence, newspaper clippings, and souvenirs were saved and stored. These sources form the core of the two greatest collections of women’s history in the United States– one at the Elizabeth and Arthur Schlesinger Library at Radcliff College, and the other the Sophia Smith Collection at Smith College. Such sources have provided valuable materials for later generations of historians.

Despite the gathering of more information about ordinary women during the nineteenth century, most of the writing about women conformed to the “great women” theory of history, just as much of mainstream American history concentrated on “great men”. To demonstrate that women were making significant contributions to American life, female authors singled out women leaders and wrote biographies, or else important women produced their autobiographies. Most of these leaders were involved in public life as reformers, activists working for women’s right to vote, or authors, and were not representative at all of the great mass of ordinary women. The lives of ordinary people continued, generally, to be untold in the American histories being published.

Question 71: What does the passage mainly discuss?

A.  The role of literature in early American histories.

B.  The place of American women in written histories.

C. The keen sense of history shown by American women.

D. The “great women” approach to history used by American historians.

Question 72: The word “contemporary” in the passage is closest in meaning to

A. past 
B. temporary
   C. written at that time
D. belonging to the present time

Question 73: In the first paragraph, Bradstreet, Warren, and Adams are mentioned to show that

A. a woman’s status was changed by marriage.

B. even the contributions of outstanding women were ignored.

C. only three women were able to get their writing published.

D. poetry produced by women was more readily accepted than other writing by women.

Question 74: The word “celebratory” in the passage means that the writings referred to were


A. related to parties 
B. religious
C. serious

D. full of praise

Question 75: The word “they” in the passage refers to


A. counterparts 
B. authors
C. efforts

D. sources

Question 76: In 2nd paragraph, what weakness in nineteenth-century histories does the author point out?

A. They put too much emphasis on daily activities.

B. They left out discussion of the influence on money on politics

C. The sources of the information they were based on were not necessarily accurate.

D. They were printed on poor quality paper.

Question 77: On the basis of information in the third paragraph, which of the following would most likely have been collected by nineteenth-century feminist organizations?

A. Newspaper accounts of presidential election results.

B. Biographies of John Adams.

C. Letters from a mother to a daughter advising her how to handle a family problem.

D. Books about famous graduates of the country’s first college.

Question 78: What use was made of the nineteenth-century women’s history materials in the Schlesinger Library and the Sophia Smith Collection?

A. They were combined and published in a multivolume encyclopedia about women.

B. They formed the basis of college courses in the nineteenth-century.

C. They provided valuable information for twentieth century historical researchers.

D. They were shared among women’s colleges throughout the United States

Question 79: In the last paragraph, the author mentions all of the following as possible roles of nineteenth-century “great women” EXCEPT


A. authors 

B. reformers         C. activists for women’s rights  
D. politicians

Question 80: The word “representative” in the passage is closest in meaning to

A. typical  

B. satisfied 

C. supportive 


D. distinctive

PRACTICE TEST 5
Mark the letter A. B. C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1 : 
A. efficient 

B. popular 

C. business 

D. beautiful

Question 2 : 
A. curriculum 

B. discovery 

C. minority 

D. kindergarten

Question 3 : 
A. extinct 

B. product 

C. campaign 

D. prevent

Question 4 : 
A. security 

B. attempt 

C. project 

D. hospitable

Question 5 : 
A. determine 

B. attitude 

C. survey 

D. symbol

Mark the letter A. B. C or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6: Cars have become much more complicated. ________, mechanics need more training than in the past.



A. However 

B. Therefore 

C. Otherwise 

D. Furthermore

Question 7 : There’ve been some remarkable reforms _________ education recently.


A. on 


B. at 


C. in 


D. of

Question 8 : I would like to ________ touch with old friends but I have so little time.



A. get into 

B. be in 

C. lose 

D. keep in

Question 9 : The doctor thinks carefully before deciding what medicine _________ to his patient.



A. is to give 

B. that he gives 
C. to give 

D. that gives

Question 10 : If only Jane _________ my advice, things would have gone much better.



A. had taken 

B. has taken 

C. took 

D. would take

Question 11 : - “What a beautiful dress you are wearing !”

· “________________________.”

A. Thank you very much. I’m afraid 

B. Thank you. That’s a nice compliment

C. You are telling a lie                   

D. Yes, I think so.

Question 12 : Don’t forget to let me know you’ve arrived safely, ________ ?



A. haven’t you 
B. do you 

C. won’t you 

D. will you

Question 13 : Environmental organisations have been ________ to inform people and gain their support.



A. set up 

B. put up 

C. made up 

D. carried out

Question 14 : Martha Thomas was an American educator who stood for equal ______ rights for women.



A. educated 

B. educational 
C. educating 

D. educationally

Question 15 : My boss is angry with me. I didn’t do all the work that I ________ last week.



A. should do 

B. should have done 
C. must have done 
D. might have done

Question 16 : This is a photograph of the school I ________ when I lived in Swindow.



A. went 

B. joined 

C. studied 

D. attended

Question 17 : According to a recent survey, most people are on good ________ with their neighbours.



A. relations 

B. terms 

C. acquaintance 
D. relationships

Question 18 : I’d rather have a room of my own, ________ small it may be.



A. even if 

B. no matter 

C. however 

D. whatever

Question 19 : He’s been very sick. His doctor insisted that he ________ in bed this week.



A. will stay 

B. would stay 

C. stays 

D. stay

Question 20 : -“Would you mind if I closed the window ?” “______________.”

A. No, please do



B. No, I don’t close it 


C. Yes, I wouldn’t mind 


D. Yes, please close

Question 21 : After his long absence from school he found it difficult to ___ up with the rest of his class.



A. work 

B. catch 

C. take 

D. make

Question 22 : - “What are they talking about ?” – “They are discussing problems ________ the budget.”



A. concerning 

B. concerning to 
C. concerned 

D. concerned to

Question 23 : _________ his assistance in those days, I would not be so successful now.



A. Unless I had 



B. Had it not been for 

C. If it had not for 



D. If there were not

Question 24 : ________ , after trying three times, he passed the examination.



A. Lastly 

B. Last of all 

C. Last 

D. At last

Question 25 : The director has promised that _________ finds a solution to this particular problem will be well awarded.



A. who 

B. the one 

C. whoever 

D. anyone

Question 26 : Robert is going to be famous some day. He ________ in three movies already.



A. has appeared 
B. has been appearing C. had appeared 
D. appeared

Question 27 : This jacket doesn’t ________ me; it’s too tight across the shoulders.



A. match 

B. reach 

C. equal 

D. fit

Question 28 : This new law will take ________ from the beginning of next month.



A. influence 

B. effect 

C. power 

D. force

Question 29 : Our new house is very ________ for the office as I can get there in five minutes.



A. comfortable 
B. near 

C. available 

D. convenient

Question 30 : The boy has chosen to do ________ MBA programme in Australia.



A. the 


B. Þ 


C. an 


D. a

Mark the letter A. B. C or D on your answer sheet to show the underlined part that needs correcting.

Question 31 : When readers contribute funds to private libraries, these readers are used the library 

                                                    A                          B                                                C

                        without charge.

                             D

Question 32 : Generally speaking, proteins that come from animal sources are complete whereas those that 

                              A                                                                   B                                                            C   

                        come from another sources are incomplete proteins.

                                              D

Question 33 : Thanks a lot for your help. But for it, it would be impossible for me to overcome my 

                            A                                        B                    C

                       difficulties.

                             D

Question 34 : At the Olympic Games, the female winners receive honours equal  with those  given to the

                                                                                                                            A           B             C

                       men who win.

                                D 

Question 35 : Only when the teacher phoned me that I knew the truth about my son.

                         A                                     B                   C                           D                                                                                                       

Mark the letter A. B. C or D on your answer sheet to complete each of the following sentences.

Question 36 : The vehicle bounces and glides along the ground ______________ .



A. at 40 miles per hour of an average speed



B. at an average speed of 40 miles per hour



C. of 40 miles per hour at an average speed



D. of an average speed at 40 miles per hour

Question 37 : ______________ , but it also filters out harmful sun rays.



A. Not only does the atmosphere give us air to breathe



B. Not only the atmosphere gives us air to breathe



C. The atmosphere gives us air to breathe



D. The atmosphere which gives us air to breathe

Question 38 : Only after food has been dried or canned ______________ .



A. should it be stored for later consumption



B. should be store for later consumption



C. that  it should be stored for later consumption



D. it should be stored for later consumption

Question 39 : No matter _________ , Mozart was an accomplished composer while still a child.



A. how it seems remarkable 


B. how remarkable it seems



C. it seems remarkable how 


D. how seems it remarkable

Question 40 : After seeing a movie based on a novel, _____________ .



A. the reading of the book interests many people



B. many people want to read the book



C. the book was read by many people

 

D. the book made many people want to read it

Mark the letter A. B. C or D on your answer sheet to indicate the sentence that is closest in meaning to each of the given ones.

Question 41 : Although they are busy at work, they try to find time for their children.



A. They are so busy at work that they cannot find time for their children.



B. Busy at work as they are, they try to find time for their children.



C. Busy as they are at work, they try to find time for their children.



D. They rarely have time for their children because they are busy at work.

Question 42 : He didn’t work hard enough, so he failed in the exam.



A. The reason why he failed in the exam was that he didn’t work hard enough.



B. The reason he failed in the exam was because he didn’t work hard enough.



C. The reason for him to fail in the exam was that he didn’t work hard enough.



D. The reason why he failed in the exam that was he didn’t work hard enough.

Question 43 : Our plans for an excursion to London have been spoilt by the weather.


A. Because of the bad weather, our excursion to London was put off later.


B. Our plans for an excursion to London have fallen through because the weather was so bad.


C. The bad weather was the reason that made our excursion to London have been fallen over.


D. Our plans for an excursion have fallen away because the weather was bad.

Question 44 : Everyone started complaining the moment the announcement was made.



A. No sooner did everyone start complaining than the announcement was made.



B. Everyone started complaining that the announcement was made.

C. No sooner had the announcement made than everyone started complaining.



D. As soon as the announcement was made, everyone started complaining.

Question 45 : Jenny is so creative that we all can rely on her for original ideas.



A. Being creative, we all can rely on Jenny for original ideas.



B. Creative as Jenny is, we all can rely on her for original ideas. 



C. So creative is Jenny that we all can rely on her for original ideas.



D. Jenny is such creative girl that we all can rely on her for original ideas.

Question 46 : “Why don’t you phone Tom and see if he’s free today ?”, said the man to his wife.



A. The man suggested that his wife should phone Tom and see if he was free that day.
B. The man asked his wife why she didn’t phone Tom and see if he was free that day.

       

C. The man asked his wife not to phone Tom and see if he was free that day.

       

D. The man suggested his wife not phoning Tom and see if he was free that day.

Question 47 : “I’m very pleased at how things have turned out”, she said to her employees.

       

A. She asked her employees how things had turned out and was pleased to know it.

       

B. She expressed her satisfaction with the way things had turned out.

       

C. She complimented her employees for making things turn out.


 
D. She wanted her employees to tell her how many things had turned out.

Question 48 : People rumoured that he had died in the battle.



A. He was rumoured to die in the battle. 
         

B. He was rumoured to be died in the battle.



C. He was rumoured to has died in the battle.         

D. He was rumoured to have died in the battle.

Question 49 : “Shall I carry the suitcase for you, Mary ?”, said John.



A. John asked Mary if he should carry the suitcase for her.



B. John suggested carrying the suitcase for Mary.



C. John promised to carry the suitcase for Mary.



D. John offered to carry the suitcase for Mary.

Question 50 : It was careless of you to leave the windows open last night.



A. You shouldn’t leave the windows open last night.



B. You were so careless that you left the windows open last night.



C. You shouldn’t have left the windows open last night.



D. You might have been careless because you left the windows open last night.

Read the following passage and mark the letter A. B. C or D on your answer sheet to indicate the correct answer to each of the questions.

         The three phrases of the human memory are the sensory memory, the short-term memory, and the long-term memory. This division of the memory into phrases is based on the length of time of the memory.

          Sensory memory is instantaneous memory. It is an image or memory that enters your mind only for a short period of time; it comes and goes in under a second. The memory will not last longer than that unless the information enters the short-term memory.

          Information can be held in the short-term memory for about twenty seconds or as long as you are actively using it. If you repeat a fact to yourself, that fact will stay in your short-term memory as long as you keep repeating it. Once you stop repeating it, either it is forgotten or it moves into long term memory.

          Long-term memory is the huge memory tank that can hold ideas and images for years and years. Information can be added to your long-term memory when you actively try to put it there through memorization or when an idea or image enters your mind on its own.

Question 51 : The best title for this passage would be 



A. The difference between sensory and short-term memory.



B. How long it takes to memorize.



C. The stages of human memory.



D. Human phrases.

Question 52 : The three phrases of memory discussed in this passage are differentiated according to 



A. the location in the brain



B. the period of time it takes to remember something



C. how the senses are involved in the memory



D. how long the memory lasts

Question 53 : The expression “is based on” in line 2 could best be replaced by 



A. is on top of

B. is at the foot of
C. depend on

D. is below

Question 54 : According to the passage, which type of memory is the shortest ?



A. Sensory memory



B. Active memory


C. Short-term memory


D. Long-term memory

Question 55 : According to the passage, when will information stay in your short-term memory ?



A. For as long as twenty minutes

B. As long as it is being used



C. After you have repeated it many times    D. When it has moved into long-term memory

Question 56 : The word “keep” in could best be replaced by 



A. hold

B. continue

C. retain

D. save

Question 57 : The word “Once” in line 8 could best be replaced by which of the following ?



A. Just after

B. Although 

C. Just before

D. Because



Question 58 : All of the following are true about long-term memory EXCEPT that 



A. it has a very large capacity

B. it can hold information for a long time

C. it is possible to put information into it through memorization



D. memorization is the only way that information can get there.

Question 59 : The expression “on its own” in line 11 could best be replaced by 



A. by itself

B. in its own time
C. with its possessions    D. in only one way

Question 60 : It can be inferred from the passage that, if a person remembers a piece of information for two days, this information is probably in 



A. three phrases of memory


B. the sensory memory



C. the short-term memory


D. the long-term memory

Read the following passage and mark the letter A. B.C or D on your answer sheet to indicate the correct word for each of the blanks.

        The first traffic signal was invented by a railway signaling engineer. It was installed (61) _________ the Houses of Parliament in 1868. It (62) __________ like any railway signal of the time, and was operated by gas. (63) _________ , it exploded and killed a policeman, and the accident (64) _________ further development until cars became common.

        (65) _________ traffic lights are an American invention. Red-green (66) ________ were installed in Cleveland in 1914. Three-colour signals, operated (67) _________ hand from a tower in the (68) ________ of the street, were installed in New York in 1918. The (69) _________ lights of this type to (70) _________ in Britain were in London, on the junction between St.James’s Street and Piccadilly, in 1925. Automatic signals were installed (71) _________ year later.

         In the past, traffic lights were (72) _________ . In New York, some lights had a statue on top. In Los Angeles the lights did not just (73) _________ silently, but would ring bells to (74) _________ the sleeping motorists of the 1930s. These are gone and have been (75) _________ by standard models which are universally adopted.

Question 61 : 
A. outside 

B. out 


C. out of 

D. outdoors

Question 62 : 
A. resembled 

B. looked 

C. showed 

D. seemed

Question 63 : 
A. However 

B. Therefore 

C. Although 

D. Despite

Question 64 :  A. forbade 

B. disappointed 

C. avoided 

D. discouraged

Question 65 :  A. New 


B. Recent 

C. Modern 

D. Late

Question 66 :  A. methods 

B. ways 

C. systems 

D. means

Question 67 :  A. by 


B. with 


C. through 

D. in

Question 68 :  A. middle

B. heart 

C. focus 

D. halfway

Question 69 :  A. original 

B. primary 

C. first 


D. early

Question 70 :  A. show 


B. appear 

C. happen 

D. become

Question 71 :  A. a 


B. in the 

C. in a 


D. the

Question 72 :  A. various 

B. particular 

C. rare 


D. special

Question 73 :  A. change 

B. alter 

C. vary 

D. move

Question 74 :  A. rise 

B. raise 

C. wake 

D. get up

Question 75 :  A. reproduced 
B. replaced 

C. removed 

D. remained

Read the following passage and mark the letter A. B. C or D on your answer sheet to indicate the correct answer 

         Unconscious facial expressions and “body language” often give information to other people. Many people’s “hidden” emotions are actually quite visible to anyone who knows how to read people’s faces. Some reactions are so widespread in all cultures that there seems to be a physical basis for them. All people react in the same way to certain exciting situations by breathing more rapidly and experiencing increased heart rates. Facial expressions of basic emotions, such as anger, surprise, and excitement, appear to be universal.

         Other reactions are not so universal. Many, but not all, people respond to an embarrassing situation by blushing (when the face and neck turn bright red). Some people show that they are bored by growing less active 

and becoming sleepy or inattentive. Others respond to boring situations by becoming more active and showing such physical signs as jiggling feet or wiggling fingers. But for other people, such reactions may be united signs of nervousness or anxiety, not boredom. 

          There are not only differences in this “silent language” between different people, but there are also important differences between cultures. Certain kinds of “silent language” give one particular message in one culture, but a conflicting message in another culture. For example, eye contact has very different meanings in different cultures. In American culture, if someone is shifty eyed while talking, it means that he or she is dishonest and cannot be trusted. But in many Asian cultures, avoiding eye contact is a sign of politeness and respect. Mistaken “body language” can often result in even more misunderstanding than using the wrong word or incorrect grammar.

Question 76 :  Which of the following is most probable an unconscious facial expression ?



A. Jiggling feet or wiggling fingers

B. Waving one’s hand



C. Blushing




D. Shouting angrily

Question 77 :  It is good manners while talking in America ……………………………



A. not to look directly into the listener’s eyes.



B. to look directly into the listener’s eyes.



C. not to be attentive.



D. to avoid eye contact.

Question 78 :  According to the text, people probably react to the same situation ……………………….



A. in the same way


B. in different ways



C. in a universal way


D. either in the same way or in different ways

Question 79 :  The word “conflicting” appears in the last paragraph, and “conflict" can also be used as a noun. For example, the two companies are into conflict. It means “the two companies” ………………….



A. deal in different businesses



B. have been similar with each other in many ways



C. have had a serious disagreement about something important



D. do businesses in different ways

Question 80 :  What can we learn from the text about “body language” or “silent language” ?



A. It is also very important means of communication.



B. It is even more important than speech or writing.



C. It is quite difficult to understand.



D. It gives different messages in different situations.

PRACTICE TEST 6
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions, questions from 1 to 30
Question 1: The boy did his homework ________


A. by himself              B. his own self

C. on himself

D. by his own.

Question 2: Peter’s got so ________to opera that it has become a constant companion of her life

  
A. used to listening.    B. used to listen.       
C. used in listening.
D. use to listen.

Question 3: A:  “May I use your car for a few days?”               B:   "_ ____
"


A. It's up to you
B. Not at all

C. You're welcomed
D. Welcome you.

Question 4: ________being tired, I went for a picnic with my family.

    
A. That 

B. Since                       C. Although             
D. Despite

Question 5: Preparing for a job interview can be very  _____
.


A. stress

B. stressful

C. stressed

D. stressing

Question 6: This knife is very blunt. It needs ___________

    
A. sharpeningly   
B. sharpen                
C. sharpening              D. sharply

Question 7: Not until the end of the 19th century  ____
 become a scientific discipline.


A. plant breeding has
B. did plant breeding
C. plant breeding had
D. has plant breeding

Question 8: This road ,                  ., is narrow and winding


A. which the two villages are joined

B. which the two villages are joining


C. which joins the two villages

D. joins the two villages

Question 9: I am going to_____ my dress dry- cleaned


A. make

B. send

C. get


D. take

Question 10: She is very absent-minded: she  
 her cell phone three times!


A. has lost

B. loses

C. was losing

D. had lost

Question 11: 
- "You look ill. What’s wrong with you?"

                        - " 
                 "


A. No, sir.                 
B. No matter.            
C. Not at all.

D. Nothing.

Question 12: He is unhappy because his parents do not _________very well.


A. get over

B. get off

C. get on

D. get away

Question 13: Although the exam was difficult,  
 the students passed it.


A. most of

B. none of

C. a few

D. a lot

Question 14: - "You have a beautiful blouse, Mary. I have never seen such a perfect thing on you"



- " 
           
"


A. Good idea. Thanks for the news.

B. Thanks, Tom. That’s a nice compliment


C. Well, that's very surprising!

D. Yes, it's our pleasure.

Question 15: By  
 the household chores, he can help his mother after going home from school.


A. ordering

B. doing

C. having

D. making

Question 16: The youths nowadays have many things to do in their  _____
 time.


A. leisure

B. entertainment
C. fun


D. amusement

Question 17: I was not _________to go to parties in the evening until I reached the age of eighteen.


A. permitted

B. permission

C. permitting

D. permit

Question 18: Working hours will fall to under 35 hours a week,  ______
?


A. will they

B. won't they

C. won't it

D. will it

Question 19: This factory produced  
_________ motorbikes in 2008 as in the year 2006.


A. twice as many
B. as twice as many
C. as twice many
D. as many as twice

Question 20: He runs a business,  
_______ he proves to have managerial skills.


A. however

B. otherwise

C. and


D. despite

Question 21.  _______ at his lessons, still he couldn’t catch up with his classmates.


A. Hardly as he worked


B. Hard as he worked


C. Hard as he does



D. Hard as he was

Question 22. My daughter saw an elephant this morning but she___________ one before. 

	A. had never seen 
	B. has never seen 
	C. never sees 
	D. never had seen 


Question 23. I am reading this novel. By the time you come back from work I __________

	A. shall finish 
	B. will finish 
	C. will have finished 
	D. have finished 


Question 24.  The whole village was wiped out in the bombing raids.


A. removed quickly



B. cleaned well




C. changed completely


D. destroyed completely

Question 25. Delegates will meet with _______from industry and the government.


A. represented      
B. representative 
C. representatives 
D. representors

Question 26. Have you really got no money _______the fact that you've had a part-time job this term?


A. although          
B. in spite of         
C. because of        
D. in case

Question 27. Last week, my professor promised that he___________ today. 

	A. would come 
	B. will come 
	C. comes 
	D. coming 


Question 28. It was not until ________ home that _________ that he had taken someone else's bike.  


A. he got/ he realized        


B.  he got/ did he realize     


C. did he get/ he realized 


D. he got/ he did realize

Question 29. There are many ways _________ to Rome 

	A. is leading 
	B. are leading 
	C. leading 
	D. led 


Question 30. He was ________ teacher!


A. how good a        
B. so good a            
C. so a good       
D. what a good

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions, questions from 31 to 35
Question 31. 
A. assassinated 
B. international 
C. preferential 
D. differentiate

Question 32. 
A. silhouette 

B. presidential 
C. intellectual 

D. ambitious

Question 33. 
A. mathematician 
B. picturesque 
C. refugee 

D. cigarette

Question 34. 
A. certificate 

B. appreciate 

C. apologize 

D. classify

Question 35. 
A. preference 

B. attraction 

C. advantage 

D. infinitive
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 36: I would rather that they do not travel during the bad weather, but they insist that 


                                  A
        B
                          C

                     they must return home today.

                             D

Question 37: The man, of whom the red car is parked in front of our house, is a famous doctor in this  

                       town.            A                              B
          C
                               D
Question 38: The better you are at English, the more chance you have to get a job 

                               A              B                               C
                           D

Question 39:  If either of you take a vacation, we will not be able to finish the work.

                                    A          B                               C                                     D

Question 40:  With this type of exercise, reading the questions first and then read the text to find the 


                                                        A
                                            B
                        C

                      correct answer.

                         D
         
   



Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 41 to 50.   

Smallpox was the first widespread disease to be eliminated by human intervention. In May, 1966, the World Health Organization (WHO), an agency of the United Nations was authorized to initiate a global campaign to eradicate smallpox.  The goal was to eliminate the disease in one decade. At the time, the disease posed a serious threat to people in more than thirty nations. Because similar projects for malaria and yellow fever had failed, few believed that smallpox could actually be eradicated but eleven years after the initial organization of the campaign, no cases were reported in the field. 


The strategy was not only to provide mass vaccinations but also to isolate patients with active smallpox in order to contain the spread of the disease and to break the chain of human transmission. Rewards for reporting smallpox assisted in motivating so that patients are removed from contact with others and treated. At the same time, the entire village where the victim had lived was vaccinated. 


By April of 1978 WHO officials announced that they had isolated the last known case of the disease but health workers continued to search for new cases for additional years to be completely sure. In May, 1980, a formal statement was made to the global community. Today smallpox is no longer a threat to humanity. Routine vaccinations have been stopped worldwide. 

Question 41: Which of the following is the best title for the passage?  


A. The World Health Organization 



B. Smallpox Vaccinations   


C. The Eradication of Smallpox 



D. Infectious Disease 

Question 42: The word “threat” in line 4 could best be replaced by


A. debate 

B. humiliation 
C. bother 

D. risk 

Question 43: What was the goal of the campaign against smallpox?  


A. to eliminate smallpox worldwide in ten years   


B. to decrease the spread of smallpox worldwide  


C. to provide mass vaccinations against smallpox worldwide   


D. to initiate worldwide projects for smallpox, malaria and yellow fever at the same time 

Question 44: According to the passage, what was the strategy used to eliminate the spread of smallpox?  


A. Vaccinations of entire villages 




B. Treatments of individual victims   


C. Isolation of victims and mass vaccinations 


D. Extensive reporting of outbreak 

Question 45: The word “isolated” in paragraph 3 is closest in meaning to  


A. separated 

B. restored 

C. attended 

D. located 

Question 46: How was the public motivated to help health workers? 

 
A. By educating them  


B. By rewarding them for reporting cases  


C. By isolating them from others 

D. By giving them vaccination 

Question 47: The word “they” in paragraph 3 refers to  


A. officials 

B. health workers 
C. victims 

D. cases 

Question 48: Which statement does not refer to smallpox?  


A. People are no longer vaccinated for it   



B. It was a serious threat   


C. Previous projects had failed   




D. WHO mounted a worldwide campaign to eradicate the disease 

Question 49: It can be inferred that  


A. no new cases of smallpox have been reported this year.   



B. malaria and yellow fever have been eliminated.  


C. smallpox victims no longer die when they contact the disease.  


D. smallpox is not transmitted from one person to another. 

Question 50: When was the formal announcement made that smallpox had been eradicated?  


A. 1980 

B. 1966 

C. 1978 

D. 1976

Choose A, B, C or D to show the best way of making a sentence from the works and phrases given. questions from 51 to 60

Question 51:  Inhabitants / this city /all / kill / one week / volcanic disaster.

A. The inhabitants of this city all were killed after one week before volcanic disaster.

B. The inhabitants of this city all were killed after one week in the volcanic disaster.

C. The inhabitants of this city were all killed in one week before the volcanic disaster.

D. The inhabitants of this city were all killed in one week after the volcanic disaster.

 Question 52:  English / become / effective / medium / international / communication
A. English has become an international communication of effective medium.

B. English has become an effective international communication of medium.

C. English has become an effective medium of international communication.

D. English has become an effective medium of become international communication.
Question 53: In Paris/ Hemingway meet/ many / his old friends / encourage / his writing / career.
A. In Paris, Hemingway encouraged many of his old friends who met him in his writing career.

B. In Paris, Hemingway met many of his old friends, who encouraged him in his writing career

C. In Paris, Hemingway encouraged his writing career which many of his old friends met.

D. In Paris, Hemingway encouraged his writing career to meet many of his old friends.

Question 54: I / grateful / you / send / latest catalogue / price lists.
A. I am grateful if you send me the latest catalogue of price lists.

B. I would be grateful to you to send me the latest catalogue of price lists.
C. I would be grateful if you could send me the latest catalogue of price lists.
D. I would be grateful if you could send to me the latest catalogue of price lists.
Question 55: rain / every day / have / spend / most / time / indoors.

A. It rained every day, so we had to spend most of time indoors.

B. It rained every day, so we had to spend most of our time indoors.

C. It rained every day, so we had to spend most our time indoors.

D. It rained every day, so we have spent most of time indoors.

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions, questions from 56 to 60
Question 56:    “Let’s go shopping”!

       
A.  She suggests going shopping                         

B. She allows us to go shopping

       
C. She says we can go shopping                          

D. She agrees to go shopping with him

Question 57: “I’ll give you a lift home if you like”
A. He offered to give me a lift home.

B. I liked him to give me a lift home.

C. He could install a lift in my home.

D. If I liked, he would install a lift in my home.

Question 58: The boy was too fat to run far.
A. The boy was very fat and couldn’t run far.

B. The boy’s fatness didn’t stop him running far.

C. The boy had to run a lot because he was fat.

D. The boy became ill because he was fat.

Question 59: If you hadn’t cheated in the exam, you wouldn’t be punished now.
A. You were not punished as you didn’t cheat in the exam.

B. You didn’t cheat in the exams so as not to be punished.
C. Don’t cheat in the exam and you won’t be punished.
D. You cheated in the exam, so you are punished.
Question 60: Julia forgot to do her homework.
A. Julia did her homework but she didn’t remember.

B. Julia forgot doing her homework.
C. Julia didn’t do her homework as she didn’t remember.
D. Somebody did her homework for Julia but she forgot it.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 70.   


The general principles of dynamics are rules that demonstrate a relationship between the motions of bodies and the forces that produce those motions. Based in large part on the work of his predecessors, Sir Isaac Newton deduced three laws of dynamics, which he published in his famous PrincipiA.


Prior to Newton, Aristotle had established that the natural state of a body was a state of rest, and that unless a force acted upon it to maintain motion, a moving body would come to rest. Galileo had succeeded in correctly describing the behavior of falling objects and in recording that no force was required to maintain a body in motion. He noted that the effect of force was to change motion. Huygens recognized that a change in the direction of motion involved acceleration, just as did a change in speed, and further, that the action of a force was required. Kepler deduced the laws describing the motion of planets around the sun. It was primarily from Galileo and Kepler that Newton borrowed.

In short, Newton’s laws of Motion are: (1) a body at rest remains at rest, and a body in motion remains in motion along a straight line, unless acted upon by an unbalanced force, (2) if an unbalanced force acts upon a body, the momentum of the body changes in proportion to the force and in the same direction as the force, (3) to every action or force, there is an equal and opposite reaction.

Question 61. What was the main purpose of this passage?


A. To demonstrate the development of Newton’s laws


B. To establish Newton as the authority in the field of physics


C. To discredit Newton’s laws of motion


D. To describe the motion of planets around the sun

Question 62. The word "predecessors" refers to ...... .


A. those who came before


B. those who provided help


C. those who published their work

D. those who agreed with the ideas

Question 63. The phrase "prior to" could best be replaced by which of the following?


A. before   

B. after                     
C. with


D. simultaneously

Question 64. Which of the following scientists established that the natural state of a body was a state of rest?


A. Galileo   

B. Kepler                 
C. Aristotle

D. Newton

Question 65. The word ’"it" in line 6 refers to ...... .


A. rest     

B. body                        C. state             
D. motion

Question 66. Who was the first scientist to correctly describe the behavior of falling objects?


A. Aristotle      
B. Newton             
C. Kepler 

D. Galileo

Question 67. According to Huygens, when was acceleration required?


A. For either a change in direction or a change in speed


B. Only for a change in speed


C. Only for a change in direction


D. Neither for a change in direction nor for a change in speed

Question 68. According to this passage, Newton based his laws primarily upon the work of  ...... .


A. Galileo and Copernicus


B. Ptolemy and Copernicus


C. Huygens and Kepler


D. Galileo and Kepler

Question 69. The word "momentum" in line 16 is closest in meaning to ...... .


A. weight     

B. speed              
C. shape 

D. size

Question 70. Which of the following describes Inertia, or the principles of bodies at rest?

A. Newton’s first law



B. Newton’s third law


C. Newton’s law of motion


D. Newton’s law of dynamics

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 71 to 80.   


Public transport plays a central role in any (71) ________ urban transport system. In developing (72)____________ where at least 16 cities are expected to have more than 12 million people each by the end of this decade, failing to give priority to public transport would be (73) ________ . The term ‘public transport’ covers many different types of vehicles, but most commonly refers to (74) ________ and trains. Rail services fall into four major categories, rapid rail (also called the underground, tube, metro, or subway), which operates on exclusive (75) ________ or on elevated tracks; trams, which move with other traffic on regular (76) ________; light rail, which is a quieter, more modern version of trams that can run either on exclusive way or with other traffic; and suburban or regional trains, which (77) ________ a city with surrounding areas. The recent trend in many (78) ________ is toward light rail over ‘heavy’ rapid rail systems. Whereas metros require exclusive rights-of-way, which often means building costly elevated or underground lines and stations, light rail can be build on regular city streets.

Public transport modes vary in fuel use and emissions and in the space they require, but if carrying reasonable (79) _______of passengers, they all perform (80) ________than single-occupant private cars on each of these counts.

Question 71. A. efficient

B. ancient

C. rural

D. western

Question 72. A. schools

B. roads

C. countries

D. villages

Question 73. A. costly


B. cheap

C. disastrous

D. impossible

Question 74. A. cars


B. bicycles

C. buses

D. horses

Question 75. A. tunnels

B. burrows

C. caves

D. dungeons

Question 76. A. rails


B. streets

C. rivers

D. footpaths

Question 77. A. connect

B. glue


C. send 

D. subordinate

Question 78. A. villages

B. trams

C. cities

D. governments

Question 79. A. amounts

B. numbers

C. weights

D. luggage

Question 80. A. faster


B. slower

C. worse

D. better

PRACTICE TEST 7
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions. 

Question 1: A. curriculum
B. discourteous
C. category
D. compulsory

Question 2: A. ancestor
B. significance
C. valuable
D. ceremony

Question 3: A. generational
B. communicative
C. disobedient
D. argumentative

Question 4: A. academic
B. application
C. kindergarten
D. interruptive

Question 5: A. nervousness
B. confidence
C. creative
D. feature

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 
Question 6: If I were in your shoe, I would let him go.


A. I suggest that you let him go.


B. I was wearing your shoe and would like to let him go.


C. I advise you to wear your shoe and let him go.


D. I would like to be in your shoe so he could let him go.

Question 7: “Why I haven’t thought of this before,” Dung said to himself.


A. Dung advised himself not to have thought of that before.


B. Dung suggested himself not thinking of that before.


C. Dung said that why he hadn’t thought of that before


D. Dung wondered why he hadn’t thought of that before.

Question 8: Strong as he is, he still can’t lift that box


A. He’s very strong, but he still can lift that box.


B. However strong he is, he still can’t lift that box.


C. He still can’t lift that box because he’s not as strong.


D. The box was too heavy for him to lift.

Question 9: So far as you’ve explained the problem, it doesn’t sound too bad.


A. The problem didn’t seem very bad until you’ve explained it.


B. The problem can’t be any worse than you’ve made it sound.


C. If you hadn’t explained it so well, the problem would seem worse.


D. The problem wouldn’t have sounded bad if you explained it.

Question 10: What he did came as no surprise to me.


A. He told me that he was not surprised.

B. His behaviour surprised me.


C. I was not surprised by his actions.


D. He was surprised when I came.

Question 11: The firemen were in time to save the people but not the house.


A. The house was saved but the people were lost.


B. The people were saved and so was the house.


C. Both the people and the house were lost in the fire.


D. The people were saved but the house was lost.

Question 12: The company turned down Hung’s offer


A. The company offered Hung a job.


B. The company accepted Hung’s offer.


C. The company discussed Hung’s offer.

D. The company rejected Hung’s offer.

Question 13: I found it difficult to communicate in English.


A. I didn’t like to communicate in English.



B. I preferred communicating in English.


C. I had no difficulty communicating in English.



D. I was not used to communicating in English.

Question 14: Nobody is allowed to enter the area without permission.


A. You can enter the area if you ask for permission.


B. You can’t enter the area under any circumstances.


C. You can’t enter the area without allowance.


D. You are not allowed to enter the area because of the permission.

Question 15: “I claim that you took my money,” she said to the housekeeper.


A. She insisted on the housekeeper taking her money.


B. She admitted the housekeeper having taken her money.


C. She warned the housekeeper against taking her money.


D. She accused the housekeeper of having taken her money.

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 16: Below are some pieces of advice that can help you reduce the feeling of 

 

         A 






B



                       pressure and creating a good impression on your interviewer.

                                   C 


      D

Question 17:  What I love most about the book that was the close-knit friendship of the three friends.


              A 

      B
   
         C


D

Question 18: No matter how young are you, you should take responsibility to do some 

 

   A


B

C

                      housework family to help your parents

                                                             D

Question 19: Irrigation often studied together with drainage, which is the natural or artificial 

 
                                   A



       B



                

                      removal of the surface and sub-surface water from a given area.

                         C 





       D

Question 20: Studies of Mars indicate that enough water might be collected on the planet’s 

 


                   A


    B



C



surface sustain prolonged missions by human space crews

 

                      D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 21 to 30. 

Why is it that flying to New York from London will leave you feeling less tired than flying to London from New York? The answer may be a clear case of biology not being able to keep up with technology.


Deep inside the brain there is a “clock” that governs every aspect of the body’s functioning: sleep and wake cycles, levels of alertness, performance, mood, hormone levels, digestion, body temperature and so on. It regulates all of these functions on a 24-hour basis and is called the circadian clock (from the Latin, circa “about” + dies “day”).This body clock programmes us to be sleepy twice a day, between 3-5 a.m and again between 3-5 p.m. Afternoon tea and siesta times are all cultural responses to our natural biological sleepiness in the afternoon.


One of the major causes of the travelers’ malady known as jet lag is the non-alignment of a person’s internal body clock with clocks in the external world. Crossing different time zones confuses the circadian clock, which then has to adjust to the new time and patterns of light and activity. To make matters more complex, not all internal body functions adjust at the same rate. So your sleep/wake may adjust to a new time zone at one rate, while your temperature adjusts at a different pace. Your digestion may be on a different schedule altogether.


Though we live in a 24-hour day, the natural tendency of the body clock is to extend our day beyond 24 hours. It is contrary to our biological programming to shrink our day.

That is why traveling in a westward direction is more body-clock friendly than flying east. NASA studies of long haul pilots showed that westward travel was associated with significantly better sleep quantity and quality than eastward flights.


When flying west, you are “extending” your day, thus traveling in the natural direction of your internal clock. Flying eastward will involve “shrinking” or reducing your day and is in direct opposition to your internal clock’s natural tendency.
One of the more common complaints of travelers is that their sleep becomes disrupted. There are many reasons for this: Changing time zones and schedules, changing light and activity levels, trying to sleep when your body clock is programmed to be awake, disruption of the internal circadian clock and working longer hours


Sleep loss, jet lag and fatigue can seriously affect our ability to function well. Judgment and decision-making can be reduced by 50%, attention by 75 percent, memory by 20 percent and communication by 30 percent.


It is often suggested that you adjust your watch as soon as you board a plane, supposedly to try to help you adjust to your destination’s schedule as soon as you arrive. But it can take the body clock several days to several weeks to fully adjust to a new time zone.

Question 21:  The main function of the body clock is to________


A. help us sleep.



B. help us adapt to a 24-hour cycle.


C. regulate the body’s functions.

D. govern all the body’s responses.

Question 22:  The word “It” refers to________


A. the programme
B. the body clock
C. the function
D. the brain

Question 23:  Jet lag


A. makes our body clock operate badly
B. causes our body clock to change


C. extends the hours of our body clock
D. upsets our body’s rhythms

Question 24:  The word “malady” is closest in meaning to________


A. feeling

B. bore


C. illness

D. thought

Question 25:  The direction you fly in________


A. extends or shrinks your body clock
B. alters your body’s natural rhythms


C. helps you sleep better


D. affects the degree of jet lag

Question 26: According to the article________


A. jet lag can affect different abilities differently.


B. flying seriously affects your judgment and decision-making.


C. travelers complain about the negative effects of flying.


D. various factors stop us sleeping when we fly.

Question 27:  On the subject of avoiding jet lag the article________


A. suggests changing the time on your watch.



B. proposes gradually adjusting your body clock.


C. says there is nothing you can do.



D. makes no suggestions.

Question 28:  According to the author, which of the following reasons disrupt travelers’ sleep?


A. Travelers try to sleep between 3-5 p.m.


B. Travelers’ attention is reduced by 75 percent.


C. Travelers fly in the natural direction of their internal clock.


D. The traveler’s internal circadian clock has to adjust to patterns of light and activity.

Question 29:  It can be inferred from the passage that________


A. there are more travelers in westward flights than in eastward ones.


B. westward travelers become friendlier than eastward ones.


C. travelers have to spend more money flying westward than eastward.


D. travelers do not sleep as well in eastward flights as in westward ones.

Question 30:  The word “fatigue” is closest in meaning to________


A. exhaustion

B. obsession

C. frustration

D. sleeplessness

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 31 to 40. 

Human beings have a strong need to put their experiences and problems into words. That is why everyone……31….... a “friendly ear”- someone who is ……32….... to listen to their troubles and joys. But few people……33….... what a complex skill listening is. To be a good listener requires great powers of concentration, which can only be gained through practice.


There are two reasons why listening is often such hard……34….... The first is simply that people much prefer to speak. How often have you missed what someone has said because you were thinking about what you were going to say……35…....? The second reason is that people speak too slowly. The average speed is about 125 words per minute, ……36….... is not fast enough for the human brain. It ……37….... too much time for the concentration to fail, as the brain tries to keep itself busy with other, irrelevant thoughts.


Next time you are in a listening……38…...., try to predict what the speaker is going to say. Ask yourself questions about what is being said, and ……39….... if the speaker answers them. Finally, make quick summaries in your head of the main points that have been made. All of these things will……40….... you concentrate and make you a better listener.

Question 31: A. approves
B. attracts
C. appreciates
D. applauds

Question 32: A. capable
B. willing
C. agreed
D. wanting

Question 33: A. realise
B. relate
C. believe
D. detect

Question 34: A. task
B. work
C. act
D. job

Question 35: A. in turn
B. in reply
C. through answer
D. by report

Question 36: A. this
B. that
C. which
D. what

Question 37: A. makes
B. allows
C. lets
D. admits

Question 38: A. atmosphere
B. situation
C. circumstance
D. station

Question 39: A. see
B. watch
C. look
D. tell

Question 40: A. serve
B. give
C. help
D. aid

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 41: .……..provided a living for nearly 90 percent of the population of the American colonies.


A. What was farming

B. Farming was
C. Farming was what 
D. What farming

Question 42: "How would you like your steak?" "______"


A. Rare, please.

B. Very good.

C. Not too bad.
D. Yes, sir.

Question 43: According to a recent survey, most people are on good…………..with their neighbours


A. relations


B. terms

C. acquaintance         
D. relationships

Question 44: ……………. will Mr. Thanh be able to regain control of the company


A. Only with hard work



B. Only if he works hardly


C. No matter how does he work hardly

D. Not until his work hard

Question 45: It was ten years ago…………. Mr. Thang returned from America.


A. when


B. that


C. since

D. when that

Question 46: He objected to ………….


A. his mistakes being laughed at


B. laughing his mistakes at


C. his mistakes laughing at



D. his mistakes at laughing

Question 47: I can’t go with you today; I have……………..things to do


A. a great deal


B. many a great
C. great many          
D. a great many

Question 48: It’s high time we……………..


A. to leave


B. were leaving
C. leave

D. had left

Question 49: “Would you like some beer?”

“Not while I’m ………………”


A. in order


B. on duty

C. under control
D. in the act

Question 50: He always did it well at school…………having his early education disrupted by illness.


A. in spite of


B. on account of
C. in addition to      
D. even though

Question 51: She was so frightened that she was shaking like……………..


A. a leaf


B. jelly


C. the wind

D. a flag

Question 52: An eyewitness described how ten people………….in the fire


A. were killed

B. had been killed
C. had killed       
D. had been being killed

Question 53: "I'd like to place an order for delivery, please." "______"


A. We actually take orders at five.


B. Sure, how much is it?


C. Sure, what time is it?



D. Sure, what would you like?

Question 54: It is very important for a firm or a company to …………..changes in the market


A. keep pace with
B. keep pace of
C. keep track with    
D. keep in touch with

Question 55: But for their help, he………………..


A. wouldn’t have failed
B. would have failed
C. has failed

D. has not failed

Question 56: He spent part of…………….afternoon telling them………news he could not tell them by………telephone.


A. the/ the/ __


B. an/__/ the

C. an/ the/ the

D. the/__/the

Question 57: "This cupboard is broken." "______"


A. But it's big.





B. We'll get it fixed.


C. We have to pay extra money.


D. But it's small.

Question 58: He teaches……………piano and ………………violin.


A. the/the


B. a/the

C. the/a

D. __/__

Question 59: Anyone ……………to another country needs special papers


A. travelled


B. is travelled

C. travelling

D. is travelling

Question 60: "I have an idea. Let's go on a picnic on Saturday." "______"


A. You're kidding.

B. Okay.

C. I'm sure.

D. I know.

Question 61: Last time the doctor……………..that she……………………..


A. had suggested/should not smoke


B. suggested/should have not smoked


C. suggested/ did not smoke



D. suggested/ should not smoke

Question 62: I will have your car…………..by the end of the day


A. to repair


B. repair

C. repaired

D. repairing

Question 63: This film is really sad. I think……………


A. I’m going to cry

B. I cry

C. I’ll cry

D. I’m crying

Question 64: We are supposed to attend…………on “Brain Electronics” tomorrow


A. a meeting


B. a say

C. a discussion
D. a lecture

Question 65: ………………I love you, I can’t let you do whatever you like.


A. Whatever


B. Whether

C. Despite

D. Much as

Question 66: "______"          "What happened?"


A. What did you do today?



B. I had a bad day.


C. How was your day?



D. Have a nice day.

Question 67: It tasted so ………..of the lemon that the other flavours were lost


A. strongly


B. hardly

C. forcefully

D. fully

Question 68: He ……………… off alone a month ago and ……………..of since.


A. set/ hasn’t been heard



B. setted/ hasn’t heard


C. set/hasn’t heard




D. setted/ hadn’t been heard

Question 69: If Thang hadn’t quarreled with the bad boys at school, he……….a black eye.


A. would have had

B. wouldn’t have had
C. won’t have had
D. hadn’t had

Question 70: We expected her at nine but she finally……………at midnight.


A. came to


B. came off

C. turned up

D. turned out

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 71 to 80. 

As many as one thousand years ago in the Southwest, the Hopi and Zuni Indians of North America were building with adobe-sun-baked brick plastered with mud. Their homes looked remarkably like modern apartment houses. Some were four stories high and contained quarters for perhaps a thousand people, along with storerooms for grain and other goods. These buildings were usually put up against cliffs, both to make construction easier and for defense against enemies. They were really villages in themselves, as later Spanish explorers must have realised since they called them “pueblos”, which is Spanish for towns. The people of the pueblos raised what are called “the three sisters”- corn, beans, and squash. They made excellent pottery and wove marvelous baskets, some so fine that they could hold water. The Southwest has always been a dry country, where water is scarce. The Hopi and Zuni brought water from streams to their fields and gardens through irrigation ditches. 
Water was so important that it played a major role in their religion. They developed elaborate ceremonies and religious rituals to bring rain. The way of life of less – settled groups was simpler and more strongly influenced by nature. Small tribes such as the Shoshone and Ute wandered the dry and mountainous lands between the Rocky Mountains and the Pacific Ocean. They gathered seeds and hunted small animals such as rabbits and snakes. In the Far North, the ancestors of today’s Inuit hunted seals, walruses, and the great whales. They lived right on the frozen season shelters called igloos built of blocks of packed snow. When summer came, they fished for salmon and hunted the lordly caribou. The Cheyenne, Pawnee and Sioux tribes, known as the Plains Indians, lived on the grasslands between the Rocky Mountains and the Mississippi River. They hunted bison, commonly called the buffalo. Its meat was the chief food of these tribes, and its hide was used to make their clothing and the covering of their tents and tepees.

Question 71. What does the passage mainly discuss?


A. The architecture of early America Indian buildings


B. The movement of American Indians across North America


C. Ceremonies and rituals of American Indians


D. The way of life of American Indian tribes in early North America

Question 72. According to the passage, the Hopi and Zuni typically built their homes ______


A. in valleys

B. next to streams
C. on open plains
D. against cliffs

Question 73. The word “They” refers to _____


A. goods

B. buildings

C. cliffs

D. enemies

Question 74. It can be inferred from the passage that the dwellings of the Hopi and Zuni were 


A. very small




B. highly advanced



C. difficult to defend



D. quickly constructed

Question 75. The author uses the phrase “the three sisters” refers to


A. Hopi women



B. family members


C. important crops



D. rain ceremonies

Question 76. The word “scarce” is closest in meaning to


A. limited

B. hidden

C. pure


D. necessary

Question 77. Which of the following is TRUE of the Shoshone and Ute?


A. They were not as settled as the Hopi and Zuni


B. They hunted caribou.


C. They built their homes with adobe.


D. They did not have many religious ceremonies.

Question 78. According to the passage, which of the following tribes lived in the grasslands?


A. The Shoshone and Ute


B. The Cheyenne


C. The Hopi and Zuni



D. The Pawnee and Inuit

Question 79. Which of the following animals was most important to the Plains Indians?


A. The salmon

B. The caribou

C. The seal

D. The buffalo

Question 80. Which of the following is NOT mentioned by the author as a dwelling place of early North America?


A. Log cabins

B. Adobe houses
C. Tepees

D. Igloos
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